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1. WGeidds Hd fqum S 3e ?
(1)  sTRaren Tegdren fafire faaamei stfusR femn Treqs Seerg el st Jeamreren fafiree

e stfuR g T,

(2) TSAUETH heledl FaroaT AHdsEe @H STIe faasmia stfisra o Fuaer ga o e
& AT W9 I I Al

(3) 429 TEAGERHG AfAHEaral Hoa TLuiat SR HIvar el 38 qu {CIareTared
I TR T

(4) TErdERt TR .

Which one of the following statement is not correct ?

(1) The President of India has no clearly speltout specific area of discretionary power
whereas the Governor has.

(2) The validity of anything done by the Governor can be called in question on the ground
that he ought or ought not to have acted in his discretion.

(3) After the 427d amendment, cabinet advice has been made binding on the President,
but no such provision has been made with respect to the Governor.

(4) None of the above.

2. I9-ULYCr HEESH @etd faue faurma =
(a) HfIYA FeH-63 & IT-TRIA TSI 32,
(b) N TGN U AL
(c) T THQIS s WUE daT fe W,
(d) I HEIFENTER TeEEA T el IS .

e faamitst Fiodt fagm e amwRd ?
1) (a), (b) 3ufr (d) 2) (a) 3 (c)
(3)  (a), (o) 3w (q) @) d g

Consider the following statements regarding the position of the Vice-President.
{a) Article-63 of the Constitution deals with the office of Vice-President.

(b) He is a member of the Rajya Sabha.

(c) He draws a salary as Chairman of Rajya Sabha.

(d) He can removed from the post by impeachment.

Which of the above statements are correct ?

(1) (@), () and (@ (2 (@) and (0

(3) {a), (c) and (d) (4) Al above
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3, e 9 disga AUtEE-2013 = Y@ divrearaed Syl Sk el TR ?

(1) <RUe qel AL S0 FR TS AT F el 50 TFh AMId 985 AT,

(2) RIS A 50 Tah TEE SFATE T S/ ST /3R AEEani, STeudeis 9 Aigen amsie
FHIe.

(3) THHU LAY M GEEIT HIEFHIe 5 T8 fohar Far= 65 a8 YU 5udd 9.

(4) TANHHIER SieRaTetr STUFRAAT ey HI0Aid STeT ST

Which one of the following statements about the main features of the Lokpal and Lokayukta

Act-2013 is incorrect ?

(1) Lokpal will consist of a Chairperson and some members of which 50 percent shall be
judicial mernbers.

(2) 50 percent of members shall be from SC/ST/OBCs, minorities and women.

(3) The term of office for Lokpal Chairperson and members will be 5 years or till attaining

the age of 65 years.
(4) Prime Minister has been brought under the preview of the Lokpal.

4. GEAIH! BN fHuE STET oTg ?
(1) TS - 368 el THTAT GOl HUATS HHSo S YRR UHUl 99EE Se=

SH-YAIATY SgHATE! STEvEaHdl 7.

(2) HuREE Al i Teearee T TRl THia St g AR el o e g
THTET i Jear foren faedt Srom .

(3) R WEURERHS Janemeafaia THo Wil S aidmaudi ThU Q9HE=ar Ty
TFRITIET SITET FHUR 81,

(4) SOTTHT TH L.

Which one of the following statement is correct ?

(1) To amend the Constitution under Article - 368, two thirds majority of the total
membership of both the houses of the Parliament is required.

{2) No person shall be prosecuted and punished for the same offence more than once
including any departmental proceedings’.

(3) The total number of ministers, excluding the Prime Minister, in the Council of Ministers
of India shall not exceed fifteen percent of total membership of the Lok Sabha.

(4) None of the above.

5.  FE9 ¥4 geue sfafea s 99 TEEar s gR gId FHelt S F.
(1) s T (2) Tt
(3) §ER (4) = =R
The additional functions relating to the services of the Union can be conferred on UPSC by
the .
(1)  Union Home Minister (2) President
(3) Parliament (4) Union Council of Minister

HeAT TS ST/ SPACE FOR ROUGH WORK
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6. eita faum fa=armE =
(a) GO I RS TR TS Tgudt IS SR HagAmET SR e
(b) EaNdE TERRE T T Teren Feevma AaeEE sifuewR Twen af @i
T faegean HeifvEiRT=n SUame HaaHTan ST w4l

g I :
1) TauM (a) T R (2) Taum (b) SR AR,
@) SE faum sReR S, (4) <rEd faue R SR,

Consider the following statements.

(a) While the nominated members of the two Houses of the Parliament have no voting
right in the Presidential election, they have the right to vote in the election of the Vice-
President.

(b) While the nominated members of the Lok Sabha have no voting right in the Presidential
election, they have the right to vote in the impeachment motion against the President.

Answer Options :

(1) Statement (a) is correct. (2) Statement (b) is correct.

(3) Both the statements are correct. (4) Both the statements are false.

7. AWM Aol SHR Tevds AR HR :
(a) TS WA SIT0T SHAweie U@ FH Bl
(b) TS WEMEA AUF TaheTH Il SRR,
(c) TATIeS WA QA Wiamyln a1 Ierl o .
(d) TS W Sl TReE oty wfafshamsiiar sa.
(€) TR T TeHEE fola wfiEddsd mieh 2.

A} ot faum e e ?
1) (a), (b) 3N (e) ' (2)  (9), (d) 30 (e)
(3) (a), (d) 3 () (4) e v

Right to information is necessary in India because :

(@) It reduces the gap between administration and people.

(b) It makes administration more innovative.

(c) It makes administration more accountable to people’s representatives.
(d) It makes administration more responsive to the requirements of people.
() It makes people aware of administrative decision making.

Which of these are correct statements ?

(1) (a), (b) and (e) (2) (), (d and (o)

(3) (a), (d) and (e) 4) Allabove

FHoo HWHGS AET/SPACE FOR ROUGH WORK
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8.  3ITRY FHYUA H2G ;

(1)
(2)
(3)

(4)

AT g STERTH 2000 Siel @iel ool Herdd 9rer e,

IRar= e A AaeR foam st Fee e Weur @ Fasus SesdEE
STaIS T U 2009 T Sio=fien i @i,

e 700 ¥ YRAT 239 67 Fasus e a.

Select the incorrect statement.

1) .

(2)
(3)

(4)

The Election Commission of India celebrated its Golden Jubilee in the year 2000.
Election Commission of India is a permanent constitutional body.

Election Commission of India, in 2009, formally adopted voter education and electoral
participation as an integral part of its election management.

Sunil Arora was the 234 Chief Election Commissioner of India.

9. RO TeoEde TeEr ‘i oy 51’ U :

(4)

T ¢ wiftishor=a favg o1

THTET 99 e

T € srenfies e

T HoTE fafire wmien spRaR JrvEs a2 STE.

The term ‘Secular State” in the context of Indian Constitution refers to ;

M
(2)
(3)
(4)

The state is anti-religious
The state has a religion
The state is irreligious

The state avoids preferential treatment for any particular religion

AT HATEET N/ SPACE FOR ROUGH WORK
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10. HIR] S GO/ Gokcl EYd HasATe Hafud e/ 3T ?

(a) 4231 = goE (b) 46eh =GR

(c) 86 ST gEwAt (d) 8&dt =T gEwl

watdt It

(1) ™ (a) (2) T (d) 3) wH(D),(d) (4 HH() ()

Which Constitutional Amendment/s is/are related to Fundamental Duties ?
(a) 420 Constitutional Amendment (b) 46" Constitutional Amendment
(c) 86t Constitutional Amendment (d) 88th Constitutional Amendment

Answer Options :

(1) only (a) (2) only (d) (3) only(b),(d) (4 only() (c)

11. Ereftd fum 8 =
(a) e 12 TeA He-=A1 faen WA o= S4TeA $0ar 3Te] 3.
(b) T T Wi, U TRufew, YarE, faea Hew, $y=de 7y (fawaw) 3. =1

T SRS FHE 2.
(€) TR Td Wifterdl Tgursre USAIH!, SCTSH!, et T & Terea1 el Furaw gl
TR IR )/ faum sTe omea ?
(1) T (a) (2) I (a) SN (b) @) wHEEp) @) w

Consider the following statements :
(a) Article 12 has defined the term state in the Part IIL

(b)  All the local authorities, that is, municipalities, Panchayats, district boards, improvement
trusts etc. are included in this definition of state.

(c) Authorities like LIC, ONGC, SAIL are included in this definition of State.

Which of the above statements is/are correct ?

(1) only (a) (2) only (a) and (b) (3) only(p) (4 all

HoAT HIFTETS! AT/ SPACE FOR ROUGH WORK PT.O
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12, GEfiedt S fa4M e 318 ?
(1) ‘e G’ 8 TSErT a9 1947 Tl SR Yafdsr (S.) Fit arae.
2) wrEwEd fauam sfn fafurse Fdt Fam ST SIS IEH =EREE gfEadE
3T e
(3) —AEETER FhREdS SRCHEHE AR e we,
(4) —TEREN |ihAdYe Ta AETerET AR ST wiassd are e,
Which one of the following statement is incorrect ?

(1) The term ‘Judicial Activism’ was coined for the first time by Arthur Schlesinger Jr. in
1947.

(2)  Judicial activism has arisen mainly due to the failure of the executive and legislature to
act.

(3) Judicial activism led to increase in the powers of the legislature.

(4) Judicial activism has enhanced the powers and prestige of the Supreme Court.

13. @ faus fagmoa = :

(a) TSI AFE g9 SRR AASATHIR (=i S TETen Yo 9d] 69 SeareTat
T T[T ST T T AT FI0ar] AfehR .

(b) UL IS AT, U AqgFad TRt AN, T Sggfaa S A-T 3 T
T T i 3reme ¥ WEE AHE g9 AN yefiag e .

Tl R faum g o7 ?

(1) H (a) (2) T (b) @) = (4) ST SRR T

Consider the following statements :

(a) The National Human Rights Commission cannot intervene in any proceeding involving
allegation of Violation of human rights pending before a court.

(b) The Chairman of the National Commission for Minorities, the National Commission
for SC’s, the National Commission for ST's and the National Commission for Women
are the Ex-officio members of the National Human Rights Commission.

Which of the above statement is incorrect ?

(1) Only (a) (2) Only (b) (3) Both {4) Neither (a) nor (b)

el RIS W/ SPACE FOR ROUGH WORK
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14. TrEY - [ A - 11 Tt @l fioedn Saaigar siet Jeqd foags W fmst

Ty - 1 - 11

(T IR ) (A=)

(a) a3 ufifre ) TR YT TG S HEwmied Feuell a1eq Hered]
SRTieEd
(b) Tr=a o= (i) TSATE A faered
(c) e wfifire (i) TI9Y AT A e
(d) =9 wfifire (iv) g o Toamed AR aey
(v) Igfaa a3 anftn sTagfaa swdi= wemes ot s

iEt I

(@ (b) () (d)
1 @ @ & §
@ () @) ) 0
@ @ v ) 0

4) @ @) @ @)
Match List - I with List - IT and select the correct answer by using the codes given below :

List- I List - II
(Schedules of (Provisions)
the Constitution)
(a) Eighth Schedule (i)  Allocation of seats in the Rajya Sabha to the states

and the Union territories

(b) Fifth Schedule (ii) Languages recognised by the Constitution
(¢) Seventh Schedule (iii) Forms of oaths or affirmation
(d) Fourth Schedule (iv) Division of powers between the union and the states

=

Provisions relating to the administration and control
of scheduled areas and scheduled tribes

Answer Options :
@ (b)) (0 (9

1) @) ) @) 0
@ @ v @
@ @ W O
@ @ @@ @O W

oAl HUHES 9/ SPACE FOR ROUGH WORK PT.O
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102 =1 AIgER STaframETeT Tefieis! S faum g o8 ?

(1) ¥Hed: TT TPMEatE SEarm=l (NCBC) ®IT9 T "rEeriiy S stfaf=m 1991
Y FRACA e

(2) TS AATEEE SR 102 ST TeAge S mgR S o WM e S

(3) 102 =1 weAIgER SUfTaER Tsaee-d 3TT=0% - 338 B 30T 342 A Afan wHEW FHIoAid
3T

(4) 102 =1 weAIgewd fufmER 3198 - 338 aqﬁsaen@aaam 3T

Which one of the following statements about 102" Amendment Act is incorrect ?

(1) The National Commission for Backward Classes (NCBC) was originally set up under
the NCBC Act of 1991.

(2) 102" amendment act granted Constitutional status to the NCBC.
(3) 102™ amendment act inserted Article - 338 B and 342 A into the Constitution.
(4) 102" amendment act amended Article - 338 and 366.

16.

‘SHfed anfees’ Hewia Era faum fosme =i

(a) < FrEEm uer foded TEHiE SiRd SR,

(b) H EHER S ST FeAHE e YR TISvETH ST TS,

(c) WIRAW, YRHE Tod T2 ARG faciean qava gaeriaed sHfed afeae= T STed.
(d) HIURERE W ST AU SIS S Sfed A S et T,
Tt wivr faum faee smed ?

(1) (@), @) A (©) () ®) (3T 3) (@) () M (d) (4) =iwwd
With reference to the ‘Public Interest Litigation (PILY, consider the following statements :

(a) Itis based on procedure established by Law.

(b) 1t has forced the judiciary to discharge their constitutional obligations towards the
people.

(¢) InIndia the source of PIL is fundamental rights provided to citizens by the constitution
of India.

(d) PIL is not defined in any Indian statute or in any act.
Which of the statements given above are correct ?
1) @ ®and© (2 0, @add () @ () and(d) (4) All above

HoAT HIUMEES! AN/ SPACE FOR ROUGH WORK
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17, T 3ToE - 368 Tarl Wieia faum fa=ara =
(a) TGT=N & Wi SeAges fadges w5t ffan dasan wiae §9He Hig e,

(b) FAGERN TatEe Helt TN HHSS Qe WNEME Fig i s Y Soh
U TE 9.

(€) 3STT=T - 368 3= TR FRICH TeAIGEA! TASTHE Il S0dE S47 TEdie Tad.

(d) Too=-=N 9o aRivrem s aee oAl e uee fafursesi=t Il seeas 9.
AT IR/ fEYE/A w0 R/a 7

(1) ™ (a) (2)  (b) ST (o) (3) ®H (d) (4) T TEE R
Consider the following statements related to Article - 368 of the Constitution :

(a) The Constitutional amendment bill can be introduced by a minister or by any member
of Parliament with the prior permission of the President.

(b) There is a provision for holding a joint sitting of both the Houses of Parliament if there
is a deadlock over the passage of a constitutional amendment bill.

{c) It is not obligatory for the President to give his assent to a constitutional amendment
bill passed under Article - 368.

(d) To amend Seventh Schedule of the constitution, ratification of half of the state
legislature’s is essential.

Which of these statements is/are correct ?

(1) (a) Only (2) (b) and (c) (3) (d) Only (4) None of these
18. &% Mo ToainHie SeuieEaen TEd TR I =l AT Ag(aeiedr .
(1) 1373 (2 11=n (@) 103 4) 127

Provisions regarding relations between the Union and the States are mentioned in
part of the Indian Constitution.

(1) 13th (2) 11th (3) 10th (4) 12th

woAl HIUTETSr SIAT/SPACE FOR ROUGH WORK P.T.0
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19. 9RA TR FES - 1935 A0 WRAeTien! HI0d a4 Fahid o ?

(1) o FREIFEA FRW G AT 9] F0aid e,

(2) A FEIEE RIS Fa 999d Gd seeHeast fAfHd g .

(3) A FIETA WAL Seit WA Sae | et vl

(4) TR T Ead TR AR 5 A0 Todid ARR T woaig e,

Which one of the following statement/s is incorrect about the Government of India
Act - 1935 ?

(1) It provided for the adoption of Dyarchy at the centre.
(2) It introduced at the centre for the first time, bicameralism in India.
(3) It abolished Dyarchy in the provinces.

(4) It divided the powers between the centre and the units in terms of three lists.

20, YA HEHATET Wil FEAEER e Seqeis gasde galiqr Ay wafhs fasor
Tresvarn G ToHREAT U= o730 93 heft et

(a) HTIH 265 (b) oA 251 (c) T 350A (d) =heiH 121
it 39
(1) &9 (a) (2) FES () (3) %= (b) (4) FFB (d)

Under the following article of the Constitution of India, Provision has been made for the
State Government to provide Primary Education in the mother tongue to the children of the
linguistic minority community.

(a) Article 265 (b) Article 251 (c} Article 350A (d) Article 121
Answer Options :

(1) Only (a) (2)  Only (9) (3) Only (b) (4) Only (d)

oAl HATARSE AR/ SPACE FOR ROUGH WORK
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[, T [T Wil B SfHer aream ?

(a) o faum uRedet TH-arw 9Eg AMfSE 6 IR,

() 7 Sien-gfeam s uw wfafnd faum avat Tl w6 v,

(c) A TS SuEl HeToN HRNaEg Feied] Hvkere st safaden fasmed g, gee fha
RN R E TG

(d) ¢ srifadas vsu faideer=n faeamd wad qeq v,

ﬂ'ﬂhﬁ E?ﬁ‘ :
1) (a) 3ufor (b) 2) (a), (b) 30fO1 ()
(3)  (b) =fur (c) (4) TlEUR THE AR

At present, which of the following ‘powers’ are enjoyed by the Governor of a State ?

(@) He can nominate one-twelfth members of the Legislative Council.

(b) He can nominate one member of the Anglo-Indian community to the Legislative
Assembly.

(c) He can grant pardon, reprives, respites and remission of punishment of any person
convicted of any offence against central law or state law.

(d) He can return a money bill for the reconsideration of the State Legislature.

Answer Options :

(1) (2) and (b) (2)  (a), (b) and (d)

{3) (b) and {(c) (4) None of the above

22,

T ATYfaa It STEnTEEd Wiefterdent HIvd faur gera 3R ?

(1) eI Tsasea STgfaa s 9 sTggfed S aiadre! =% - 338 TR fasiw siftesr)
AU TR el

(2) 1990 =165 =T HLAGERITHR TH TN Tgas T IgHSEE 3T ARfaa St 3for
ATHfAd SIS UL SAETHER F0did ST,

(3) 2003 =1 89 A HSAIGERIGR TETAT S gfaa Sl 9 AYrad S SAR—PIS 90 qIgA
T ST

(4) TEFESTSA ATWT - 338 I ATY(Hd Sl M0 SqYfad SIS dehauned anf
T fauraiaed Tt S Q0 STeied] 3.

Which one of the following statements about National Commission for scheduled castes is

incorrect ?

(1) Initially, the Constitution provided for the appointment of special officer under
Article - 338 for SCs and STs.

{2) 65" Amendment of 1990 replaced the one member system with a multimember National
Commission for Scheduled Castes and Scheduled Tribes.

(3) 89" Amendment of 2003 Bifurcated the erstwhile combined National Commission for
SCs and STs into two separate Commissions, namely NCSC and NCST.

{4) Article - 338 of the Constitution provide for reservation of seats in favour of SCs and
STs in the House of people and in the Legislative Assemblies of the States.

HoAl HRMEGH ST/ SPACE FOR ROUGH WORK
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23. "' RErE Hfar g QOiTn Heeaes weud fhar qoivt theel e e ) a3
T frgo fogm e, I waden oo TR e 9 T aer YER 8. S WRdE
HETAETEd vt e ?

(1) =T SLAR HdaSH 2) = FHL =W
(3) dtgicmeay 4) WEER 9

“The Constitution. of India is neither purely Federal not Unitary but is a combination of both.
It is a Union or a composite of novel type.” Who said this about Indian Federation ?

(1) Dr. B.R. Ambedkar (2) Dr. K.C. Whear
(3) Shri Durgadas Basu (4) Sardar Patel

24, TERTLRIE TR Sod el i Y AE ?
(1) 2 RS 1972 TSt AeRIE dAlhrgaa qeen fmiv wivam e,
(2) RN WuH ThRE AEHe! TH.T. Fiaard e
(3) TeRrE € wEad ST He o,
(4) VRN SR ST I9-rhigE sifutTad 1971 Ued wegda onfor Su-wiekiged i
R, 14 9 AU &9 TS FAE A I,
Which among the following is not true about Lokayukta in Maharashtra ?
(1) The Maharashtra Lokayukta Institution came into being from 2" October 1972.
(2) The first Lokayukta of Maharashtra was Justice S.P. Kotwal.

(3) The Lokayukta is an independent statutory institution.

(4) The functicns, powers and jurisdiction of Lokayukta and Upa-Lokayuktas are laid
down in the Maharashtra Lokayukta and Upa-Lokayuktas Act, 1971.

25. Hue=w favmmeh defum e aftds orarg gl eieEn

(1) wfeEm anfor e wiwd= Tl Y2 snftr Sufifs ag ot oW o R,

(2) ‘' sfgw afidt’ = gElE * gfaes ot Feamn afidt’ s o

(3) ‘TovEew anftr e Aftedt’ ¥ Y  Teovdeev, wed § W&hdl Wit 9 TR,

(4) ‘AT enftr gt faeRe wfTd S gt A fae wfi’ o AR,

Select the incorrect rename of Departmentally related Standing Committees of Parliament.

(1) Committee on ‘Petroleum and Chemicals’ is renamed as committee on ‘Petroleum and
Natural gas’.

(2) Committee on ‘Labour’ is renamed as committee on ‘Labour and Welfare’.

(3) Committee on “Transport and Tourism’ is renamed as committee on “Transport, Tourism
and Culture’.

(4) Committee on ‘Urban and Rural Development’ is renamed as committee on ‘Rural
Development’.

HoedT RIWTETS A/ SPACE FOR ROUGH WORK
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26. HERER (Council of Ministers) 3T Hfs2 (Cabinet) AT WM Gefe four fa=mma
1.

(a) TYUi Tooreeme wiaaiieg 1 sy ATIIuEid e e, Haw AToe-352 ALl ' Hfve’
T YT AT TR,

(b) TeaerRAR Hyul ww & ' Hfere’ $% god Feldl TR, W T & o SeResgr aratedt
.

(c) wfoReca Ffae o=, T wall, I A= WHEE ITEA T GHAT AN Hfde A Haw

Hfse ot w3l 9.
et HR faum/S SET s/ ?
(1) % (a) (2) H () 3) (a), (b) 3 () (4) T (a) 3 ()

Consider the following statements about the difference between Council of Ministers and
Cabinet.

(@) Throughout the constitution the term ‘Council of Ministers” has been used, only in
Article 352 the term ‘Cabinet’ has been used.

(b) The constitution vests all the powers in the Cabinet but actually these powers are
exercised by the Council of Ministers.

(¢) The Council of Ministers shall comprises of three types of Ministers viz. Cabinet Ministers,

State and Deputy Ministers. The Cabinet on the other hand consists of only Cabinet
Ministers.

Which of the statements given above is/are correct ?

(1)  (a) only (2) (@ only 3} (@ (P and () (4) (a)and (c}only

FHoAl HWME AT/ SPACE FOR ROUGH WORK P.T.0
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27. SireW A6 - (T e qriee 99)
‘A
(a) UK SIEHY HE ()
(b) TTEIHATEY FHRON HIo (ii)
(c) —weHl/wEdt = daafors = (i)
i feerdsiamT Haor 30
(d) e wfday (iv)
atEt I
@ ® © (@
M 6 @ @) )
2 @ O @
@) @ @ @
@ @ O @) (@
Match the pairs - (Directive Principles of State Policy)
7%
(a) Protection of National Monuments (i)
(b) To raise the standard of living (i)
{c) To protect educational and (iii)
economic interests of SC/ST
{d) Prohibition of Cow-slaughter (iv)
Answer Options :
@ b © (@
O @ @ @) (@)
2 @ @O @ )
G @ @ @)
@ @ @ (v @)
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28. WEEH FRTREReE et e freR o 303889

(a) TEEE fadmfysR o ad= S TR sTeer faRy T, |TaT nftr e 2.

(b) TSHTE WRATSN TEOdian SEie agr fasimftsrR o] FFdtel TR R | SEie SHasT
THIfes VT 3114,

(c) Tue fudem = oTaai fhan ¥e Svargat 60 feaw fohen srfudem Hueamat 60 feaw @
WA HHE Ge&Tel 31 a1 34 TR,

(d) WURETE WEr WAIaE G9RRIRAT SR HITs! Sfadal & i 9 é
1o fRamvit 7 Heierl HRISHR sk @] Fla 39 7L

TR HvR/Ho e/ faum ateT o/ ?

(1) W () @ ®O 3@ @ @ (@) @ 6

Consider the following statements regarding Parliamentary Privileges :

(a) Parliamentary Privileges are special rights, immunities and exemption enjoyed by two
Houses of Parliament,

(b) The Constitution has also extended the Parliamentary Privileges to the President of
India because he is also an integral part of the Parliament.

(c) Members of Parliament cannot be arrested during the session and 60 days before the
beginning and 60 day after the end of a session.

(d) No person can be arrested, and no legal process [Civil or Criminal] can be served within

the precincts of the House without the permission of the Presiding Officer.
Which of the above statement/s is/are correct ?

(1) (a) only (2) () (©Qand(d) (3) (a)and(d) 4) (@) (b) and (c)

29, YR TeAS=] el - 370 Sed @edtel faum fa=me =
(a) - 370 ¥ REH Too=e-=a1 XIX o1 YR THIieas el e,
(b) - anftr Fferen oy <o YoM FROATE! ARG TS WU T WHEY i 3.
(c) T M T ST FFER Toare deufa do=n auifis SfusRisR dus Sme I,
(d) Tgvdr=n e frifta s STy 370 9w ¥ TSgEEA TNl SMETEid R

TR,
FOeTdeh! o faer/A sET oney/a ?
(1) S (a) ) (b) 3 (o)
(3) (a), (b) A (d) (4) o |d

Consider the following statements about Article-370 of the Indian Constitution :

(a) Article-370 was incorporated in part XIX of the Constitution.

(b) It was included as a temporary provision that grants special status to ] & K.

(c) Tt restricted the Parliament’s legislative powers with respect to the state of Jammu and
Kashmir.

(d) The Presidential order signed by the President has totally deleted the Article-370 from
the Constitution.

Which of the statements above is/are correct ?

(1) Only (a) () () and ()

(3) (a), (b) and (d) (4) all above

oAl HIAMIS AT/ SPACE FOR ROUGH WORK P.T.O
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30.

18 A
ATt wIUd faum e o R ?
(1) uRa anfor spfte @ =0 e Teaaeimsl stfbsmrr=an 9 9ren € 91" 99H TR
(2) T HutearS Wagd e SfwRr <1 AR g hole YA U AR @ g
HEIH] T gH A1) 9o Toaidt 3T,
(3) YNGR ST e § e I T aisamite al fAMISeR SHiid ST Wiy e

(4)

e AfusriEt favm et e,

FHEAFRT Hees N fayitee Jr=mdie Yaume A1iE TERn IHAE T5d Fi Uhed 39
T[T He .

Which one of the following statement is correct ?

1)

Three lists of powers in the constitution is a common to both Indian and American
Federation.

The Canadian Federal model provides two lists of legislative powers, one for the centre,
the other for the provinces and the residuary powers are vested in the provinces.

Indian Federal System is based on division of power between the Union and the States
but the judicial power has not been divided between them.

A government is classified as Federal or Unitary on the basis of relations between the
executive and the legislature.

31.

103 =1 SRAGERISET Wi vk fGuH e o ?

(1)

TER TN STfihgtT FHGAd TG 10% JET0 TN HI0AT .

(2) TGN SHHT= IRTEATIN A1 TEER ARG SR e Afwe 15 S 16 Tel
el TR HATAL

(3) TGN G Aeeen o Sreifor e rfor wrertt fafiren deen it sewEEATRE
Fefires HeTEe AN SUATEIE! STRAT S 2. '

(4) =TSR THE AR

Which one of the following statements about 103'¢ Constitutional Amendment Act is

incorrect ?

(1) It introduces 10% reservation for Economically weaker sections of society.

(2) It amended Article - 15 and 16 to provide for reservation based on economic
backwardness.

(3) It provides reservation for admission to government run educational institutions and
private educational institutions including the minority educational institutions.

(4) None of the above.

Tl HIMTATS WM/ SPACE FOR ROUGH WORK
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32, AT WA G T SRR TR SioR] qe SUan el AR ?
(a) TI-Ted HaUEETIGA qidal
(b) e SRfTewie Tue
() TR AR
(d) T A WG
Taidt I
(1) ¥ (a), () (d) (2) I (a), (b)
(3) HH (). () 4) w (c), (d)
Which principles are borrowed from constitution of United States in Constitution of India ?
(a) Provisions related to Union-State relations
(b) Concurrent List in the seventh schedule.
(c) Fundamental Rights.
(d) Supreme Commander of the Armed Forces.
Answer Options :
(1) Only (@), (c), (d) (2)  Only (a), (b)
(3)  Only (b), (c) (4)  Only (0), (d)
33. T Afew ARERTEET Wiefierien! HroR faum SiaT e ?

1) < dunfrer den s foeam O srems SNfi SR UE Wew ST
(2) STAWE THIE YA TaUH™ HAT.

(3) O YA 98 U= =Y feben Tl 70 99 YO Budd ¥R SIaw.

(4) TR fren HvETEn SIFYER SENTE ST,

Which of the following statements regarding National Women’s Commission is correct ?
(1) Itis a statutory Body includes one President and other five members.

(2) President is appointed by Prime Minister of India.

(3) They hold office for a term of 5 years or until they attain the age of 70 years.

(

4) Commission has right to punish the criminals.

HoAT FUHE AR/ SPACE FOR ROUGH WORK
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34, THHEHAI Herd 21 Havia T Fon faum,/ faue farem a2
(a) T 21 THR, HIFEAN T el FEAUST SIS IR oAFi Sitfad o safomem=]
feUe et SR AT
(b) @ AR AR 7 TR ARG SRR SIeT=y TR,
(c) et 21 TaR fHT € Geerol $ae FHR Hearsal HHM Fafaium ST SEsb sl

T FetfarIgE SIS B AT,
afer sy :
() @E) @2 @FATE@ (@) F() (4) ¥
Which of the following statements is/are correct about the Article 21 of the Constitution of
India ?

(a)  Article 21 declares that no person shall be deprived of his life or personal liberty except
according to procedure established by law.

(b) This right is available to both citizen and non-citizens.

() The protection under Article 21 is available only against arbitrary executive action and
not against arbitrary legislative action.

Answer Options :

(1) (a) and (b) (2) (a)and () (3) only (a) 4) all

35. WRAMIS ' e St Sied wred faum foenm e e
(a) At ‘3fera afddt’ € foeie Ag=amer snviia ot oftn <t 1952 TIelt dewlel vt
(b) S AfTHET H9e= 6 URERIE 30 HEH 319

o= sremam=it Frae & it se=risgT B,

d) TRIEAR FEEE o FRRE TS SIS qatd dRer gafan ¥ e aftd s

C

— —
S

3R
FAIFT B/ FIoRT fqum/7 foeew sTe/d ?
(1) %= (a) (2)  (a) 3 (b) B) (@ (3 (d) (4) FH3 (d)

Consider the following statements about ‘Estimate Committee” in India :

(a) The Estimate Committee in India has been modelled on the British pattern and was
created in 1952 on the suggestion of G.V. Mavalankar, the then speaker.

(b) The Estimate Committee consists of 30 members from the both Houses of Parliament.
c) It's Chairman is elected by the members of the comumittee.

d) The function of Estimate committee is to suggest alternative policies in order to bring
about efficiency and economy in administration.

Which of the statements above is/are correct ?
(1) (a) only (2) (a) and (b) 3) (a) (c)and (d) (4) (d)only

—

—
St
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36. sfew M UL anfeat faRrds sTHET®, Fag G o ?
(1) & - 2007 (2) <[ - 2006 (3) S - 2008 (4) < - 2008
When Indira Gandhi National Tribal University Amarkantak, came into action ?
(1)  July - 2007 (2) June - 2006 (3) June - 2008 (4) July - 2008
37. WG YA/ AesE ¢
(a) YT WiGUFT= S8 19(2) WLl 39 Wed! AR HI, WG T W 9 el
T AFR .
(b) TS R = SRR e Tale Ted, S, et geaaen fhan Afahaa
IS FHB .
R iCiks
(1) W (a) 2) HH (b)
(3) (a) 3N (b) DR (4) aret TR
Select the correct statement/s :
(a) Article 19(2) of Constitution of India says that citizen of India have the right to freedom
of speech and expression.
{(b) Right to freedom of speech and expression has some limitation like not to affect/ violate
public order or morality.
Answer Options :
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) None of the above
38. 'wd fen sifwEm = Wevia @l e faarm =0

(a) TETHEI WRW 2001 HEA HIe.

(b) =T WRY & Wi freroms gl g gt S SR

(c) 'U% I 93 WA’ € gd faan sifvEman 3u-wrEE o

(d) ‘To&ro’ (Shikshan) I /&= TR R (portal) T T4 e sifsmam swefsraren st

T H IR,
HUEdHT R faum JET HRd ?
(1) (a), (b) 30 () ) (b), (c) M (d)
(3) () N (d) wa () =awd

Consider the following statements regarding ‘Sarva Shiksha Abhiyan’ (SSA) :

(a) It was started in 2001.

(b) It was started to achieve the Universalisation of Elementary Educahon

(c) ‘Padhe Bharat Badhe Bharat’ is a sub-programme of SSA.

(d) Government portal under the name ‘Shikshan” has been launched to monitor the SSA

programme.

Which of the statement given above are correct ?

(1) (@), (b) and (q) . (2)  (b), () and (d)
(3) (c) and (d) only (4) All above

oAl THTHTETS T/ SPACE FOR ROUGH WORK

P.T.O.



J14 22

39. YRAME gaud RS (Press Council of India) Hg4™ @eiel faum foa=mma =i ¢

(a) UfSg g, I0 THAHIW, GG A0 STAeL i1 ARG Teai=l 1T Fodid Jeid Ht .

(b) ufwe= frofa 3 idm eTwam ot =nfars —=mcEE oTde S 44 "=
(c) URween soaeife Aeami= FEE IR HoaET SEE STER TR,

FlieTieh! I faurF/ T q0ET 3T/ ?
(1) () (0T (b) (2) B (b)
(3)  (b) =f (o) (4) FOATHRI FHIVRE

Consider the following statements about Press Council of India :

(a) It can penalize newspapers, news agencies, editors and journalists for violation of the

guidelines.
(b) It's decisions are final and cannot be appealed before a court of law.
(c) 1t has a power to review the functioning of the electronic media also.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2)  Only (b)

(3) (b)and () (4) None of the above
40, FFIgfaa e gended Safirs AnTEerTeE SR 3.

(a) wREw

(b) IR I HHISTR e
(c) TeHYA HES Wav=l 3I9E

(d) F=BETETE ST

(e) = urfiasRan

i 39

(1)  ®= (a), (b), (0) (2) B (b), (d), (e)

(@) ). (), (@ (4) e o

The reasons for educational backwardness of scheduled caste childrens are
(a) Poverty

(b) Physical and Social Segregation

(c) Lack of easy access to school

(d) Tack of will power

(e) Low mentality

Answer Options :

(1) Only (a), (b), (c) (2)  Only (b), (d), (¢)
{3) Only (b), (c), (d) (4) All of the above

THoAT HIATATS AT/ SPACE FOR ROUGH WORK
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Gieftel U T w4

(a) VVPAT =1 319 det awasa IR sifee 3o 3@ o,

(b) VVPAT W4 W SNl S HIS, AId 9 o I S9ae &l

(©) VVPAT w9 & Ureyis fagsmy 5 dearadd auar 49 weh.

TR A FYA DI e 7

(1) % (a), (b) (2) K (b), (o) (3) HH (a), () (4) st wd
Consider the following statements :

(a) VVPAT stands for Voter Verifiable Paper Audit Trail.

(by VVPAT slip contains serial number, name and symbol of the candidate.

(c) VVPAT slip remain exposed through a transparent window for about 5 seconds.

Which are the correct statements from above ?
(1} Only (a), (b) (2) Only (b), (¢) (3) Only (a), (© (4) All of the above

42,

QIEd FYA AT AL -
(@) TER fAUFTEWT HASREEHE WeygH Seiagie WaaH sl ar Hudw STl
(b) RIS AaGH AT FETUH AT A, 1982 Hell FIUIW AT,

(¢) TE=T=He EVM 91 IR FogmE urRarsl s smimen sifusr Svammeas el
Fed 61 A € fediay, 1989 wedl awufafeia wEe, 1951 7 Sevd el

THAURT FIOE FE G 3 ?

(1) ¥ (a) T (b) (2) RH (b) T (c)
(3) W (a) 4) et
Consider the following statements :

(a) The Electronic Voting Machines (EVM) were used for the first time in Parur Assembly
Constituency.

(b) The Electronic Voting Machines (EVM) were used for the first time in May, 1982.

(c) InDecember, 1989 a new section 61 A was inserted in the Representation of the People
Act, 1951 empowering the Election Commission of India to use EVM in elections.

Which are the correct statements from the above ?
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only (a) (4) Al of the above

HoeAT HHMES AT/ SPACE FOR ROUGH WORK
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43. TS wsiHaH @eitd faum faarm =0
(a) WEAT WRAE UK U J8T 3.
(b) TSTHIT T T 3128 T T4 WU Heareielt HIIal shdes T <M faa g seran 99
SAHET FerSuia 312 0l F0a SAIael HIeT a%d At 98 Il ST g A,
(c) =T 31 ITHI Hi, U TN S Yeid A Fasmidia smit fem Fraw TEn.
it 36
(1) faem (a) sufor (b) T, (c) T,
(2) faum (b) sufin () T, (a) TR
@) faum () 30 () TR, (b) THI.
(4) wE faum st

Consider the following statements regarding political parties in India :
(a) At present, there are seven National parties in India.

(b) Once recognised as a National or a State party, a political party loses its given status
only if it fails to fulfil any of the conditions for two successive Assembly or two successive
Lok Sabha elections.

(c) Thatmeans a party retains that status irrespective of its performance in the next elections.
Answer Options :

(1) Statements (a) and (b) are correct and (c) is false.

(2) Statements (b) and (c) are correct and (a) is false.

(3) Statements (a) and (c) are correct and (b) is false.
(4) All staternents are correct.

44. T[], RGN THE Jeai= W@ S @ere gam
(a) wgws gl (b) VIR v S
(c) W fadredt qamen st (d) =afed ORI
I g
1) (@), (b) 37 (c) (2) (@), (c) ¥ (d)
(3)  (b), (c) N (d) 4) o= &
At present, main features of the Indian Political Party system are :
(a) Mult party system (b) Dominance of regional parties
(c) Lack of effective opposition (d) Personality cult
Correct Options :
(1) (a), (b) and (c) (2) (), (¢) and ()
(3) (b), (c) and (d) (4) All above

HoAT HETEIS T/ SPACE FOR ROUGH WORK
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45, HISH TN ITgfe FHRe faronarea o et Fe oTed ?
(a) ISR fohar AwafngE snarashdiar ) e wfes.
(b) Toeromdter fefm fawmar @ wwaer sifus @y Sfsa F wifes.
(c) TS TR Fad USgd AUIrIS! YgHTed, e, THuyR 93 arare Sl Hiig.

(d) =, eifcand depdr omin gl WHS S STfor i Y FA ST foerenie e

ek Wl et e,
Flteriet Hioe e sET e ?
(1) (a), (b) =0 (c) (2) (b, () ST (d)
(3) (a) ST (d) (4) =t wd

What are the recommendations of ‘Kothari Commission’ regarding education of Scheduled
Tribes ?

(a) Emphasis should be given to career or job oriented courses.
(b)  Greater focus should be given to removing gender disparity in education.

(c)  Awareness campaigns like street drama, camps, counselling session to bring attitudinal
change in parents.

(d) Teachers should be locally recruited who understand and respect tribal culture and
practices.

Which of the recommendations given above are correct ?
(1) (@) () and (9) (2 (b), (c) and (d)

(3) (a) and (d) (4) All above

HoAl HIATHG! AT/ SPACE FOR ROUGH WORK PT.O
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46. = @ (YRARTS TR 98)

A B
(wrefyres uwr) ( FaTaeT =6 )
(a) forgh Feret he i 1972
(b) i fagew wihw (i) 1985
(c) I Fyrtene e (i) 1961
(d) TE™ 7T ufiwg (iv) 1979
ugiEt I
(a) (b) () (d)
1) @) @@ (v) (i)
2 @ @) @@ @)
(@) (@@ (@v) @ ()
@ O @ @) @)

Match the pairs : (Regional Parties in India)
A B
(Regional Party) (Establishment Year)
(a) Mizo National Front G 1972
(b) Mizoram People’s Conference  (ii) 1985
(¢) Zoram Nationalist Party (iii) 1961
(d) Asom Gana Parishad (iv) 1979

Answer Options :

@ (b) () (d)
1) @ @ @) @
2) @ (@ (@) @)
G) @) ) @ @
@ O @ @) (@)

el SHIATES! ST/ SPACE FOR ROUGH WORK
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47. WS YT R =
(a) SRAHE e o1 T B Iy 379 3R,
() feed TE s T ¥ W Wi WerEEE] S,
(c) BBC.Newspoint.com T F1ER BBC.com =t %eh =I5 AL TR FHI0GR e AT,
(d) HIIS-19 <A FBA &I ek Lol THR FHI0A Al

TRl AT YA FHIUET SR ?
(1) & (a), (b), (c) (2) WH (o), (d)
(3) T (a), (b), (d) (4) = wd

Consider the following statements :

(a) Whats app is the one of the source of fake news in India.

(b) Reverse Google Image Search is used to search the fake Photoshop image.
(c) Fake news website called BBC.Newspoint.com is created for BBC.com.
(d) Fake news are still spreading even in the time of Covid-19.

Which are the correct statements from above ?

(1) Only (a), (b), (c) (2) Only (c), (d)

(3) Only (a), (b), (d) (4) All of the above

48. WATUH! IV HTTHE TG ISERT 78 ?

(1) ST (2) favetee

3) e "y (4) A TR

Which of the following is the example of Institutional Pressure Group ?

(1) Ulfa (2) Syndicate

(3) Student Union (4) Congress Working Committee

49. ‘‘vd v e snftr AEAigel o' - wd fran s 1 st sHaTSEh v HAeE
% ?
(1) ¥I=de GENA f9FE w9ed
(2) wfgen 9 =@ fa™ d3A©E
(3) HRTY 9 Fia Hed TAAT
(4) YT A
Which Ministry implement the objective of Sarva Shiksha Abhiyan - “Facilitate pre-school
learning and enrolment” ?
(1) Ministry of Human Resource Development
2)  Ministry of Women and Child Development

(
(3) Ministry of Health and Family Welfare
(4) None of the above

Hol HATHS ST/ SPACE FOR ROUGH WORK PT.O
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50. &N Ty = srfEr AR, o g s, gt S faem, den samm o
EREELCIE LS E IR I T
(1) R shidl e (2) WA W
(3) HREE =l (4) SO AR
Which political party has ideology of compulsory use of Hindi as a national language,
formation of Arya nation, Military education to all, nationalisation of large industries ?

(1) Bhartiya Kranti Dal (2) Bhartiya Lok Dal
(3) Forward Bloc (4) None of the above

51. vRdE fafem SrEmaEd Eeiais Hivh 59 g o8 ?
(1) <& TG Hared ATl FEee IgEe QP hel 9] @ Igdd ge Fassw
ST YSEEA €1 el W1 . TEIST a1 S0 Tooas a1 €ue=Aar Q9reiEt 9
(2) = T gE T Jer Fasue Tga= ReEies Teeed ¢ & .
(3) s AN TemEe Q FUAEE Te Maeuw ST Foet Ferg & Teude
YR 3T
(4) alETR! THE

Which one of the following statements about the Election Commission of India is incorrect ?

(1) The Chief Election Commissioner can be removed from their office in a manner similar
to the removal of a judge of the Supreme Court which requires a resolution passed by
the Parliament a two-thirds majority in both the Lok Sabha and Rajya Sabha.

(2) Other Election Commissioners can be removed by the President on the recommendation
of the Chief Election Commissioner.

(3) The recommendation of Chief Election Commissioner for removing the Election
Comumissioner is binding on the President.

(4) None of the above.

52. faneromiier wfedt anfor qrE=R AR AR &AL
() el gEd g (b) I TRETR
(c) HATE[AEId (Paperless) (d) T a feenyer o et
I g9t
(1) (), (b) = (c) (2) (@) (b) 3 (d)
(3)  (b), (o) () @) (@, (b) () = (d)
Disadvantages of Information and Communication Technology (ICT) in Education are
@tFBEEEEeSSikale everywhere (b) Misuse of Technology
(c) Paperless (d) Misleading and misguiding information
Correct Options :
(1) (a), (b) and () (2) (a), (b)and (d)
(3) (b, (c) and (d) 4 (@), (b), (c) and (d)

HoAT HHES 9/ SPACE FOR ROUGH WORK
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‘TaE el wedt Tl faum foemm =

(a) T TR A0 @A () W FieAnie gl T S .

(b) o THEREA SR AU, HR Heiar, A GRS SHTATHE et Y9E ki
(c) T STIHARER WWE TEEE Wae Fq e

(d) @ TSy wean Afo TS F T FLoFrE I H.

FetF HoE faum g oma ?

1) (@), @) F() (2 (b), (c) = (d)

(3)  (a) T (b) @) (a), (b) 3T (d)
Consider the following statements about Pressure Groups :

(a) They acts as a liasion between the government and its members.

They influence the policy making, policy makers and policy implementation in the
Y policy B P
government.

(c) They do not try to influence public opinion.

(d) They contest the elections and try to capture political power.
Which of the statements given above are correct ?

(1) (a), (b) and (0) @ () () and (d)
(3) (a) and (b) (4)  (a), (b) and (d)

54.

(a) Y9 Fifwa <t ffifd

(b) =R died/Afae At A
(c) TR fFam g2 o

(d) 9 e frget

Ferde! FIT 94T G 37Rd ?
(1) W (a), (), (d) (2) WK (a), (b), (d)
(3) ' (b), (), (d) (4) T (a), (b), (c)

The recommendations of First Press Commission are :

(a) Formation of a Press Council

(b) Formation of Code of Ethics

() Minimum basic wages for working journalists

(d) Appointment of Press Lok Pal

Which of the above are correct ?

(1) Only (a), (0), (d) (2) Only (a), (b), (d)
(3)  Only (b). (c), (d) (4)  Only (a), {b), ()

FHool HIWHRT AFT/SPACE FOR ROUGH WORK
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55. Iu9Tel WA 1993 AL WISt FoiedT STEa WuE R B ?

(1) wwa=Fa (2) uifedt HAiT @pet o

(3) @t faee w7 (4) THHIHE AT 3N da9

What was the title given to the report presented by Yashpal Committee in 1993 ?
(1) School Chale Hum (2) Policy on S5chool Bag

{3) Learning Without Burden (4) Education on their backs

56, U Reaforr JRomEA 2019 TS Ty Qitdie sTeare v g ?

(1) e v (2) g F

(3) . HERER (4) TEF. 4w

Who chaired the committee for the draft of the National Education Policy - 2019 ?
(1) Manjul Bhargav {2) Vasudha Kamat

(3) K. Kasturirangan {4) MUK. Shreedhar

57, W UaTUSRN Seiud YA SiaumTe S SH=g 61 1 SeAREd gR g6 HivaK 3 ?
(1) =T 316 (2) T8 330 (3) TR 326 (4) TSR 320

Which article of Constitution of India was amended by the 615 Constitutional Amendment
related with adult Franchise ?

(1) Article 316 (2) Article 330 (3) Article 326 (4) Article 320

58. U AreAfas e 1= T SSaarar=aT STl v ST ?
(a) fagm, nfira & St fasromer @ie HEa FH0
(b) STEATTT AR GHURO
(¢) memeR digen fraari=a anfus
(d) ICT smurfea T

w4 39T :
(1) ¥ (a), (b), () (2) X (a), (b), (d)
(@) ™ (a), (o), (d) (4) H (b), (o) (d)

What are the quality interventions of Rashtriya Madhyamik Shiksha Abhiyan ?
(a) Focus on Science, Math and English education

(b) Teaching learning reforms

(c) More female teachers in schools

{d) ICT based education

Answer Options :

(1)  Only (a), (b). () (2) Only (a), (b), (d)

(3) Only (), {c), (d) (4) Only (b), (c), (d)

oAl HWMEISt ST/ SPACE FOR ROUGH WORK
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59. dfEd SRS A9 AU anftr Faroren UERE g RISt FIoRET Ao WA e
3R ?
(a) foreer wafie foso wrEiwa
(b) w& Taan sfbwEm
(c) U wrafys fosn sfvam

(d) <rF i

TaiEr I

(1) 9 (a), (b), () (2) ®F (), (9, (d)
(3) T (a), (b), (d) (4) o= =

Which scheme were implemented by Government for enhancing the enrolment and quality
of education of disadvantaged sections ?

(a) District Primary Education Programme

(b) Sarva Shiksha Abhiyan

(c) Rashtriya Madhyamik Shiksha Abhiyan

(d) Lok Jumbish

Answer Options :

(1)  Only (a), (b), () (2) Only (b), (0), (d)

(3) Only (a), (b), (d) (4) All of the above

60. USIT Parforr Wit 1968 =0 FARRE Smed -
(a) T 14 Iui TSN G- el Hihd & Haira R0 SueTsy % Q0.
(b) TF WIHIGA Weal qracser AU AT T FHTE.
(c) T HHATIS oMl STIHIST Hefl=a fagrmme w1 e,
(d) AT e | SFURCA STAHHRA TOH Tl 20,
(e) U Wi anfty sAfermr=aan qRwc=T ST T,

Tttt Horn e o onda ?
(1) = (@), (b), (0). (e) (2) % (b), (c). (d), (e)
(3) ®HI (a), (c), (d), (&) (4) W (a), (b), (c), (d)

Recommendations of National Education Policy 1968 are :

{a) To provide free and compulsory education for all children upto the age of 14.
(b) State Government should adopt three language formula at school stage.

(¢) To emphasis on girl education for accelerate the social transformation.

(d) To give same status for part-time education and correspondence courses.

(e) To establish National Assessment and Accreditation Council.

Which of the above recommendations are correct ?

(1)  Only (a), (b), (<), (e) (2)  Only (b), {c), (d), (e)

(3) Only (a), (c), (d), (e) (4)  Only (a), (b), (<), (d)
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61.

62,

32 A
2019 =91 Ut Seifores Homen TETER e e S SraS gaiEvan e o ?
(1) 6+4+2+3 2) 5+3+3+4
3) 5+3+242+3 (4) 6+3+3+3

Which pattern (plan) of secondary education was suggested by the draft of National Education
Policy - 2019 ?

(1) 6+4+2+3 (2) 5+3+3+4
3) 5+3+2+2+3 (4) 6+3+3+3

WAL YEId Bon= &, STeq & o AN wim S S wribd Hed S ?
(1) viewre AT G99 e

(2) wieFR idaa Gud e 9 39 Fifae offE 38

(3) ToliRiR TEIP SieHre AU fE sEa

(4) e afEaw dud Fifwa

Which organization calculates the TRP of T.V. channels broadcasting in India ?

(1) Broadcast Audience Research Authority

(2) Broadcast Audience Research Authority and Press Council of India

(3) Telecom Regularity Broadcast Authority of India
(4) Broadcast Audience Research Council

63.

‘T4 981’ (State Party) T[T WAl FHe0aTre! @IGeiish! Shividrgt Ta e ot el wies -
(a) Hafya WA wFita fauraye fasoa 2 S e fam 6% .

(b) Hefaa vETd Ariel dhEE=A Feaeueid 1 S st @ 6% .

(c) Wefua Ted fauaE=n THO St 3% S A9ET 3 SR At 3§ Sfuw o @E 1.
(d) e TeEna e S Yl faurmas= e Faewa 6% W

FOAYET HIoE/ A R e oe/a ?

(1) (a) T (b) (2) &9 (b) (B) (o) oI (d) (4) ¥ (@)

For recognition as a ‘State Party’, any one of the following needs to be satisfied :

(a) 2 seats plus a 6% vote share in the last Assembly election in that state.

(b) 1 seat plus a 6% vote share in the last Lok Sabha election from that state.

(c} 3% of the total Assembly seats or 3 seats whichever is more.

(d) An 6% state-wide vote share in either the last Lok Sabha or the last Assembly poils.

Which of the conditions given above is/are false ? :
(1) {a) and (b) (2} Only (b) (3) () and (d) (4) Only (d)

FHoel RWTETS AT/ SPACE FOR ROUGH WORK
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64. EEHCIIE HIOR fAHM T AR ?
1) 9 SEm e SREIER Asade 79 S A1 S Sast S 47 S A
A SAREE! T e,
(2) g St/ srEfea S Reie SAfe T R TEE TEeiedl Srt Fagues
g YEhd AR, :
(3) 2018 = 102 =1 SgEw afuftamgR e - S dma fo T fafimze
ST WETE S &, FOdia el 3.
4) TAUH TEHS AR
Which one of the following statements is correct ?
(1) As per order issued by the Delimitation Commission 79 seats are reserved for SC and
47 seats are reserved for ST in Lok Sabha.
(2) A member of SC/ST cannot contest the election from general i.e. non-reserved seat.
(3) The Anglo-Indian reserved seats in the Lok Sabha and State Legislatures were abolished
by the 102" Constitutional Amendment Act of 2018.
(4) None of the above.
65. rmEw anf U faurmd=n Fasumidel TEN A (Security Deposit) STEd @refieidant

FR fae T o ?

(1)

2

)

(4)

S IHCIRE TEY Y Haideh % Yaft T T T e Re ST 5 el S

m@zwﬁawﬁmﬁmwéauaﬁﬁ%nﬁﬁqmwﬁmmaﬁ?gm
FTa T feedt <.
S IHEAH THY JY Hlgent qarad (Exactly) ! a9 fHere T0E @t gRan T S

6
el S,
SETh! el AT,

Which one of the following statements about the security deposit in the Lok Sabha and State
Assembly election is false ?

(1)

2)

)

(4)

th
If a candidate gets less than —;- of the total number of valid votes then his security

deposit will be confiscated.

. . 1 th
If the candidate wins the election but does not get z of the total valid votes, then his
security deposit is returned.
1 th
If the candidate receives exactly : of the total valid votes, still his security deposit is

forfeited.
None of the above.

oA HHEG! AMT/SPACE FOR ROUGH WORK
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66. TH HIEIT YETIH! FIK aSeh &0 TR ?
(1) & wefim vga
(2) UHHHIY FrErSUHE ArEreT Tul SN gaETe
(3) Tewer ugdt
(4) ISR 9ol W{EhR TUNT HUM WHlcAF TIhig I8
Which among the following options is the characteristics feature of a free democracy ?
(1) Single party system
(2) Competing Pressure Groups in elections
(3) Bi-party system
(4) Freely competing political parties which sometimes alternate in government

67. WICiel Y- T =41
(a) 3ifat Sfean qug@ SR (AITC) =t Tmo 1 SRt 1998 Asit wred.
(b) aifa gfean quge S (AITC) & 2016 A& ‘UL 981" U wi=aa Tiresret,
(c) AITC 8 wwf e i GeacrRl wicag o
(d) 2019 =0 wEfFs fasu®Ea AITC 3 19 S fewen.

FETIh! R/ FYH/A I AR /T ?
(1) W (a) 3T (b) (2) W (b) AW (d)
(3) W (d) (4) ®H (a), (d) 30 (o)

Consider the following statements :

(a) All India Trinamool Congress (AITC) launched on 1 January 1998.

(b) All India Trinamool Congress (AITC) recognized as a ‘National Party” in 2016.
(c) AITC is committed to secularism and federalism.

(d) In the General Elections held in 2019, AITC won 19 seats.

From above which is/are incorrect statement/s ?

(1) Only (a) and (b) (2) Only (b) and (d)

(3) Only (d) (4) Only (a), (d) and (©)

68. TRIIEIE SV AT U&TH WaToa Tahania U Zrg 2fush 1o fHesaal-ailsh g FHereuehia
(2019) 15.5 cariaed HerTe faumeyn FESua (2019) 16.7 ZHEEIRR GHRa ?
[ 2019 =1 S N7 Herre fauras fasus=a qomd |
(1) YR ST 98 2) Taas
(3) ULARE HEW Yy (4) YA T HH"
Which political party in Maharashtra gained more than one percentage point in the vote
share improving from 15.5% in the Lok-Sabha election (2019) to 16.7% in Maharashtra
Assembly election (2019) ?
[As compared to Lok Sabha and Maharashtra Legislative Assembly Elections of 2019]
(1) Bharatiya Janata Party (2) Shiv-Sena
(3) Nationalist Congress Party (4) Indian National Congress

el HIHTETSE ST/ SPACE FOR ROUGH WORK
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69. ‘' I TERAEAHMEY o SrEaEal’’ A1 Jeare Sifved Heamiae wigen Wy fad
TFh TN A AR 72 (S TS HErsH IEARIER)
(1) 26.3% (2) 13.6% (3) 209% (4) 22.4%
The report of ‘Gender Inequality in Indian Media” shows what percentage of female leadership
in digital portals ? (As per report of UN)
(1) 263% (2) 13.6% (3) 20.9% 4) 22.4%

70, ‘U HASHl WS GiEidds! Sivd faur qe 3T ?
(1) WY GReegR S Td & 3.3 U0, Tefiet wain SFiey Histel! S
(2) WREYF TFISIT T A GREe Hardl aTR FE Yehdld.
(3) HE TET URES Hardl SR % IHar.
(4) TOATR! THE EL.
Which one of the following statements about ‘Postal Voting’ is false ?
(1) Postal votes are counted first before the counting of votes from the EVM.
{2) People in preventive detention can use postal vote.

(3) Prisoners can also use postal vote.
{4) None of the above.

71. Wi faum o= =0
(a) Tatq ufgel UEE Ful {101 2000 Hed WHiva FHToaid ST,
(b) TIHRA 2006 A& ST TH,TH, WIHAYR T AR TGH Iahd 3TEr T49H He
Bl
(c) TafHmeR TN Foed RIFREiaR ‘ JawaiaeE! T |, 2007 Sauad 7.
(d) A SRS YA Sl Teust St safad fus vHuar enftn sax wafies S e

S TRETY A o ot B

et B faur seT ankd ?

1)  (a). (b) 3 () (2 (a), (o) 3for ()
3)  (b), (c) 3fur (d) (4) e () 3NfW (d)

Consider the following statements :

{a) The first ever National Agriculture Policy was announced in 2000.

(b) The Government had constituted a National Commission on Farmers in 2006 under
the Chairmanship of Dr. M.S. Swaminathan.

(c) Based on the recommendation of Swaminathan Commission, the ‘National Policy for
Farmers - 2007" has been formulated.

{(d) For the purpose of this policy, the term ‘Farmer’ will refer to a person actively engaged
in the economic and/or livelihood activity of growing crops and producing other
primary agricultural commodities.

Which of the statements given above are correct ?

(1) (@), (6) and () @ (@) (d) and (d)

3) () () and @ (4) Only (a) and (d)

HEAT HAEISt ST/ SPACE FOR ROUGH WORK PT.O
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72.  IRE HrE e RO S e i RIS $5- 10 Teaidet I Suers SR, A
qrg faum Fow ?
(a) HB-T-F U AN FEFR ATYFHREdg TER TIHHHL 25 Mo,
(b) T Nty v R Gel A1 S0 HESRI SRR TR TEiHiol 21 s,
(c) % WIHTHAT {d HHAH Tod TR &a: o FE H $g THRHE TIg Tohd.
aaiet I
(1) (a) S (2) (a) 3HfT (b) FA
(3)  (a) 3O () TR 4)  (a), (b) 3F (c) TR
There is a mechanism for Inter-governmental Policy and Administrative Co-operation in
India. Which of the following statement/s is/are true in this regard ?
(a) There can be mutual delegation of executive functions between the Union and the
States.
(b) There can be mutual delegation of executive functions between the States and Local
Authority.
(c) A State Government with the consent of Union Government may entrust certain State
functions to that Government.
Answer Options :
(1) (a) true (2) (a) and (b) true
(3) (@) and () true (4) (a), (b) and (0) true
73. fewmmpmt T T TERE WEHRE RUA Gae 3.
(1) e wfeacE 2) Ffee gfaara
(@) g smEm (4) YUEHI wERE (PMO)
have been described as ‘Government of Government of India” by Critics.
(1) Central Secretariate (2) Cabinet Secretariate
(3) NITI Ayog (4) Prime Minister’s Office (PMO)
74, HETEE( AT STUETEIEEN Se GAUIGS] WielieTds! ST THon Ha dET FiF e

fagiam waifus vda Feit 3R ?
(1) wHfewm (2) o faceriiso
(3) W AR (@) wfafadiE

Among the different mechanisms to control over bureaucracy, which of the following was
favoured by Max Weber in his theory ?

(1) Collegiality (2) Separation of Power
(3) Direct Democracy (4) Representation

HoAT HUEIS 9T /SPACE FOR ROUGH WORK
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75. @reira faum foamd = e
(@) TR (AR & qob Tk A s av oy foegt’ 3@ Fel .
(b) I WY M0 AfHBAIG A1 TAd Aok EHd T e @t Ifasi g geeh He.
(c) TRIFeIeR @ Toar=a AR Hadiel o7ea.  ufadrfia sifuspram S8 Serds Atfusr swad
T N THAT T Fde qUd: Hege HARIFR FHaw.
- gt I
(1) faur (a) SR, faem (b) nfn o) TH
(2) Taum (a) ST (b) SR, FuH () THH
(3) faum () TR, faum () nfor (b) TH
(4) ¥ faur s
Consider the following statements :

(a) Tahsil is the basic unit and described as a ‘Miniature District’.

(b) Uttar Pradesh and Tamil Nadu have no tahsils and a Sub-Division is the unit below the
District.

(c) Tahsildar belongs to the State Civil Service. He is vested with all revenue powers only
and not magisterial powers as vested to Sub-Divisional Officer.

Answer Options :

(1) Statement (a) is correct, (b) and (c) are false
(2) Statements (a) and (b) are correct, (c) is false
(3) Statement (c) is correct, (a) and (b) are false
(4) All statements are correct

76. U A" ALV UUTS Gl ATl S TRTETEsl Sl ac TR Jar. Geiterdet
FIVA qeF A 6T E ?

(a) AN A (b) fahsteta

(c) WSRO (d) TSHHA

wafdt 39Y

(1)  (b) ST (a) (2) T (o) (3) W (d) (4) AT R

Thorough analysis of the Chanakya's ‘ Arthashastra’ brings to light the following principles
of Public Administration except

(a) Welfare State (b) Decentralisation

(c) Delegation (d) Hierarchy

Answer Options :

(1) () and (a) (2) Only (o) (3) Only (d) (4) None

HoAT HWTETS AT/ SPACE FOR ROUGH WORK PT.O
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77. HES( HROTETEd el R faaT e o1 ?

(1)

(2)
)
)

IR HRO ST i @ET & Ha diF TR STan - Wiosdes, famE i gy
Y.

VI Sl Sfaoarare fadee e 30 & U fag snfhn fanjd=t T o7,
TR THE TR

Which one of the following statement about Public Policy is incorrect ?

1)

2)
®)
4

Public policies and their nature are basically of three types - Restrictive, Regulatory
and Facilitating Policies

Public Policy process is not a continuous process but a one time event
In India passing a bill to make it into law is a long and complex process

None of the above

78, WIEadst SV faum ' sreur SifRER gfsees afde tRies said’ gefua T -a ?

oy
(2)
)

4

RIS 25 o H&d 9iad ot o760 SiffRaR Fi=ar Wond 8 37ais <uam .
foaee Seoifigy ™ o TeaTdie S WeEeRiE sifuernel wiqast g@d v 39

2018 el Weome B 3ES A sigw R (IPS) =i wefelielt Aefter Tererars wwen iadryel 9
FATHEE T5dia S quarEl g9 Shedrsee faer e,

Y 0 STV SRR FESIF= qehiRH T HIvard e e,

Which of the following statement is not true about *Arun Bongirwar Public Service Excellence
Award’ ?

1)

(2)
©)

4

This award is constituted in the memory of 25th Chief Secretary of Maharashtra;
Mr. Arun Bongirwar.

This is to recognise outstanding work of two civil servants from Maharashtra annually.

For the first time in 2018 it is given to Shri. Ankush Shinde (IPS) for peaceful and
inclusive resolution of Naxlite issues in Gadchiroli District.

It is a initiative of Arun Bongirwar Foundation and “YASHADA'’,

HeAl HAETE ST/ SPACE FOR ROUGH WORK
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VI T TR e (IIPA) Fsifya Giele faum @ s onfn i faum/+ we smea a
el
(a) IIPA = TUTGET 1955 TEd, Uit o, SYuctell At aTe ) Sherear Helaorre FIhReEie SAem

F0A AT
(b) IIPA <1 W@ Wfoemr Fwa o 12 AfEi=r APPPA 3TR.
(©) . YiFTa &, ==, 1981-2004 TUAM [IPA & 31&88 (Chairman) K.
Tafdt I
(1) P (a) 2) ™R (b) (3) ®H (q) (4)  (2) 30 (o)
Consider the following statements about Indian Institute of Public Administration (IIPA).
Which of the statement/s is/are true ?
(@) It was established in 1955, on the recommendation of survey carried out by
Paul H. Appleby in the same year.
(b) A 12 months flagship training programme of IIPA is named as APPPA.

(c) Shri. Shankarrao B. Chavan was the Chairman of IIPA during 1981-2004.
Answer Options :

(1) Only () (2) Only (b) (3) Only (c) 4) (a) and ()

80.

& WA diaym e ‘foeer’ 1 9991 3o e B e Hewie 2.

(1) 233; foew = derfusit 2 233; f5emr =mnfaw

(3) 234; fSiewr = <SRt @) 234; e =t

Originally the Constitution of India made no mention of the term “District’ except in Article
which mentioned the term as .

(1) 233; District Magistrate (2) 233; District Judge

(3) 234; District Magistrate (4) 234; District Judge

81.

RAE Siaumr= ®eM 310 74 favuie 9o faumA e

() SrET A AR T TS S ST e aqfilww%w 1.
(b)  SEre AT FEEE SR W TSl SRR TRe g, A

(c) THwIeT AR Faiier SRl o TodT=A1 {AqTeAi=! /il ST9dd YR Tg haw.
Ity I

1) ¥ (a) (2 FB(b) @) ¥ () @  (b) 3 ()

The statement/s not included in Article 310 of the Indian Constitution is/are

(a) It empowers parliament to regulate the condition of services of the persons appomted
to Public Services under centre.

(b) The Civil Servants of the centre hold office during the pleasure of the President.
{c) The Civil Servants of the state hold office during the pleasure of the Governor of the

State.
Answer ((;pﬁons :
(1) Only (a) (2) Only (b) (3) Only (o) @) (b)and ()

HoAT HATHE WRT/SPACE FOR ROUGH WORK
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82. YEHIIEATEY siiTare) SPararel wewn i fie Tvar 49 s faemearen 2uam a4 ?
(1) 93 faemm (2) W T Fiee
(3) e HREA (4) T AW

Which thinker is credited with giving important place to behavioural studies in
Administration ?

(1y Woodrow Wilson (2) Mary Parker Follett
(3) Herbert Simon (4) Max Weber
83. U HES(Toh YU GeIHI UGl A =1 39, 90 3for g vafaon saf o
TEIHIYA FHIOIHIST el ST,
(1) SEgE sTSHTE (2) wEmfEn
(3) Troaeh g (4) IR HisEg

as an evaluation technique of Public Policy, is used to provide information relating
to evaluation of policies and the people who are implementing the policies.
(1) Performance Appraisal (2) Audit
(3) Result Evaluation (4) Impact Assessment

84. TG YA G :
(a) ®WEI (A dar faunmh 97 Ted 29 uee - IfEe YR Qa1 FwE da anfn
.
(b) FEE FEd HUFER T TR T wAifw SEaR o e IRdE dee s
AHIR AE QA B .
(c) WRET AN Sl TEEAT= AR 79T YT el S YIhald SIS HEHIERur ghasr
WEIE el TR qEEAET FTEa & Fag dadiet s agal a9 WEar=n sriaet

T doe aTam.
it 39y
(1) (a) 3TfW (b) (2) = v (3) () 2 (o) 4) () 3 ()

Identify the correct statements :

(a) The Civil Services can be divided into three groups : All India Services (AIS), Central
Services and State Services.

(b)  The officers of Central Services are confined to a single department, while AIS Officers
can be posted to a number of departments.

(c) The members of IAS can be appointed to any office calling for duties of General
Supervisory nature, while Officers of the Central Services are employed in jobs of
specialised nature.

Answer Options :

(1) (a) and {b) (2) All above (3) (b) and (c) (4) (a) and (c)

HoAT HUEIES 9T/ SPACE FOR ROUGH WORK
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85, WTcitel faemM e = :
() AT Fois WA fie@chl WU ¥ae (¥9) Fit (White Revolution) WRAW 1960 TEA
o .
() TG FREA T gaer shidr= I B,
(c) orite Fiem =it @i e T, S A= gY Tast sHavdrl I Ao,
(d) YIRAS wae FHidd 9 <d B
Tt HIo T a3 2
(1) (@) (b) () (2) (), (c) 3T (d)
(3)  (b) A (<) F (4) =lw =
Consider the following statements :
(a) The ‘White Revolution’, known as ‘Operation Flood” was launched in 1960 in India.
(b) Verghese Kurien was the father of the “White Revolution’,
(c) Verghese Kurien, along with his friend H.M. Dalaya invented the process of making
milk powder.
(d) There were three phases of the White Revolution in India.
Which of the statements given above are correct ?
(1) (@), () and () (2} (®), () and (d)
(3y (b)and (c) only (4) All above
g86. ‘R widten’ IRumETER Gyt S0 faum faregen smed ?

(a) STYATE! SLEKE Toae SUTTHIEAT age! 3.

(b) -5 fuwindter g sfesn = foam Q@ fassfaa e o @i

(c) &R widt & qEIe ‘digs idl’ WA sl S

(d) WA HIUTSR W AiAhIhol.

i I

(1) @ ) 2 O T (@) (@), b)AE@) @) F@ (@) o (d)
Which of the following statements regarding impacts of ‘Green Revolution’ are correct ?
(a) The per capita net availability of food-grains also increased.

(b) The high yielding variety seeds in the non-food crops were not developed sufficiently.
(c} The Green Revolution in India is largely known as the ‘Rice Revolution’.

(d) Large scale farm mechanization.
Answer Options :

(1) (@, (@ and () (2) (B)()and(d) @) (a),(b}and(d) (4) Only (a)and (d)

HoAl TIATAS ST/ SPACE FOR ROUGH WORK
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87. WIGiTIeh! IV Sl siieK AT ?

1) Fefaws - e

2y faunig s - dfew

(3) e |iew -

(4) fEq 9da e wiiqenn - W

Which of the following is not correctly matched ?

(1)  District Collector - Hastings

(2) Divisional Commissioner - Bentinck

(3) Chief Secretary - Curzon

{4) Provincialisation of All India Services - Lee Commission

88. I-UNIEAIT IR WY TR HTER HIUQ ?
(a) TR g TMiH
(b) H|FR T FFIRHSH
() WTER T R
(d) TR T R

(e) HHR g HHARI

it 3T

(1) @) (0), () =T (d) (2) (@), (9 (d) =M (e)
(3) () (o), (d) = (e) @) (a), (), () 3 ()

What are four types of interactions in ‘e-governance’ ?

{a) Government to Citizens

{b) Government to Legislature

{c) Government to Business

{d) Government to Government

(e) Government to Employees

Answer Options :

1) (@ (b), (©) and (d) @) (@, (©) (d) and (¢)
@) (), () @) and (o (4) (@), (®) () and (&)

el HIMETS AN/ SPACE FOR ROUGH WORK
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89. eyt il ‘i e’ (Classroom Training) Yt &t ?
(1) I == ggd 2) foar famel/afeg vt
(3) SHEad gl (4) WL FEAH IEA
Which one of the following is not a method of Classroom Training ?
(1) Group Discussion Method (2) Conference Method
(3) Apprenticeship Method (4) Case Studies Method
90. VA Tish WS 3ed-fasmramaiei Giefierish! s faur genta 371 ?
(1) 1937 73 TE faemdier s TereTRIe fewim S g e,
(2) 1938 A TR faemdem wnfTh @ eAre femim i g e
(3) 1950 WA W WL, YW T FEaed AR faerdien e waeH sufv e w-aeE
ST Rqul fIAT TR FAOAG e
(4) =TI =R TR
Which one of the following statement regarding evolution of Public Administration in India
is incorrect ?
(1) In 1937, University of Madras introduced a diploma course in Public Administration.
{2) In 1938, University of Allahabad launched a diploma course in Local Self Government.
(3) In 1950, at the suggestion of Prof. M.P. Sharma a full-fledged Department of Public
Administration and Local Self Government was established in Nagpur University.
(4) None of the above.
91. ‘' TERN AUFA AIER UTshamh A9 ST e Giad T JaueHid e 9 HH HETL, 99

A YRGS T SO TEUER febal Teaefe 7T el <k Hiee ¢ Harermean s
HEFT (Staff) 98 3116, THASR] (Line) 98 6!, T 6rd |G HL0 A8-TII&01 0 ="' 319
FHfae afsar=n yfaseEa Fof weet o8 ?

(1) THH G (2) TR foeed

(3) 370 frEER (4) THUH @

Who, on the role of a Cabinet Secretary observed that “The Cabinet Secretary provides the
eyes and ears for the Prime Minister to keep in touch with the process of official business in
the Central Government, but he is in no sense a watchdog or an invigilator on behalf of the

Prime Minister. A Cabinet Secretary’s is a very general staff function, not a line function in
relation to the Ministries. His business is to help, not to oversee”.

(1) S.K. Khanna (2) N.R. Pillai
(3) Arun Nigavekar {4) S.S. Khera

ool ThTATETS! ST/ SPACE FOR ROUGH WORK
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92, S oGl :
AT/
(a) Uehiel Qi
(b) SifeET stmm
(d) <t 3
it 3
(@ () (¢ (d)
1) (v @) G @
@ @ @ a6 @)
3) @) @Gv) @ ()

(4)

@ O @ @

Match the pairs :

(2)
(b)
(©)

(d)

Commission / Committee

Macauley Committee
Aitchison Commission
Islington Commission

Lee Commission

Answer Options :

(@ (b) {) (@

(v) (H) @) @)

@ @ @) (@)
(@ (v) @ @
@ @ Gv) ()

44

A
TR
AR A Q9 WA 954 © wEt
TR HAME qET HIOATEE et W gien Igd

S oG it
ARHET ATEMTE TS FIUFT Irat

92 YA QTS € auten aiE e St
g

Recommendations

The Statutory Civil Service System of
recruitment should be abolished.

An open competition system should be
adopted for recruitment to the Civil Services.

A Public Service Commission should be
established.

There should be a probationary period of two
years for direct recruits.

oAl HIHTES SAN/SPACE FOR ROUGH WORK
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93. TEa Gfaa nfon whimze afas ain vt Erieds! For faum ae] amed ?
(@) Wit FE i SR THE AR
(b) ErE i Hedta wfee™ wfea A
©) < e Hetdi e fHuiaien seaasTaiY g Sam.
(d) wiaige afea TEet goamn Ha WIaR A, W e Giad gl goar I WOl Fied,
it 3w
(1) @ @®3E) 2 @), @@ @) b)) (4) o= =
Which of the following statements about Chief Secretary and Cabinet Secretary are correct ?
(a) The powers and functions of both are equal.
(b} Both are Secretaries to their respective Cabinets.

(c) Both supervise the implementation of the decisions of their respective cabinets.

(d) The office of Cabinet Secretary originated at the Central Level, while that of Chief
Secretary at the State Level.

Answer Options :
1) (@) ®Band(© () () (@and(@ @) (and(@ 4 Allabove

94, ‘focm <eiuerl’ 91 T feefusi gien afysra St Sor 1Y 3d ?
(@) TS Tk Wifiacrer Tel, 3TN AIeH! faetar amE.
(b) R Yok ATUFEEEt SnAEAEv HI0,
(c) FF F Afufrm= sncssEoi Ho.
(d) TOUA YA (Press Act) SHEESTE FHTW,
(e) HRITEIET TYRIN T,

it 39T ;
(1) (a) =00 (c) SrgT wd 2 (b) ST
(3) (o) o (d) WigA wd (4) e &

The District Collector in his capacity as a ‘District Magistrate’ performs following functions.
(a) To order disposal of unclaimed property.

(b) To enforce Stamp Duty Act.

(c) To enforce Entertainment Tax Act.

(d} To enforce press Act.

(e} To inspect the Jails.

Answer Options :

(1) All except (a) and (c) (2) All except (b)

(3) All except {¢) and (d) (4) All of the above

FHoAl HATES ST/ SPACE FOR ROUGH WORK
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95. T FREAC GGt IV HAM (Dimension) TS GEHITE H@MT TF TR
e T THR 3T 7

(1) faofaammn 2) WEHTY

(3) g I (4) TR HER

Which of the following dimension of the Public Administration emerged as a important
principle during the Behavioural Approach era only ?

(1) Decision Making (2) Motivation

(3} Leadership (4) Communication

96. WIEEIH! T T GlaaTerrE w1 e ?
() WiGeTeRA HHEEEG FECHEEM HRE ST,
(b) T FRIHEHTA A IR YOI FIOAHIS! WA TR 0.
(c) I WHAE J=1H TSR (think-tank) TEIF F14 HIU.
(d) RO SR AT AT TeaETA S,
Iy u9giy :
1) (2. ®) T () 2 O) ()W (d) @) Fa@(Q) A (d) (4) e wd
Which of the following are the functions of the state secretariat ?
(a) To assist the legislature in the secretarial work.
(b) To assist the ministers in discharging their responsibilities to the state legislature.
(c) To serve as the “think-tank’ of the state government.

{d) To review the results of the execution of a policy.

Correct Option :

(1) (@), (and{c) (2) (b)()and(d) (3) Only (c)and (d) (4) All above

el HIUTATSH ST/ SPACE FOR ROUGH WORK
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97. 74 ot TRAGEE 1992 S Wshwola &, B fha1 WS TR &% =N, Wieliet ueH T UsA
gfaa Felel &9 84
(a) IETE|
(b) TRGEE T
(c) oA "
(d) TEHF TAEATHG] SUReAe! Teqe
it I
1) (), (b) 3 () (2) (a), (c) 30f0 (d)
(3)  (b), () ¥nfw (d) 4)  (a), (b), (c) 3 (d)

As per the 74t Constitutional Amendment 1992, the transition Area, a smaller or larger
Area can be notified considering following things :

(a) Population of the area

(b) Density of population of the area

(c) Economic importance of the area

(d) Revenue generated for local administration

Answer Options :

(1) (a), (b) and (©) (2) (a), (9 and (d)

(3) (®) () and @ (4) (@) (), () and (@)

98. Weiel fayriTE! are fau st -
(1) GEarien FEs-s ITHA |iFdt 7ed 15 98 81, AHAUTT 10 A TEagE 5 3.
(2) HEawdren e Wi W 25 W B A ENgT 15 9 TEEE 10 3.
(3) gEOTdren wRerEl Wi AE 15 W Bid; dehEagT 10 7 TEEUE 5 34
(4) FTaw w9 9 faur s

Which of the following statement is true ?

(1) Originally committee on public undertakings had 15 members, 10 from Lok Sabha and
5 from Rajya Sabha.

(2) Originally Estimate committee had 25 members; 10 from Rajya Sabha and 15 from
Lok Sabha.

(3) Originally Public Account Committee had 15 members, 10 from Lok Sabha and 5 from
Rajya Sabha.

(4) Al of the above statements are true.

Hocl HIATEIS! AR /SPACE FOR ROUGH WORK PT.O



HFHea aref
(a) WEgel g2 () I o e Fol HgH q W Feeh N
(b) STIHH T (i) AdHFHTE T2 NN TORISTHS F & T 07,
() TSHINE R (i) SR TEHIET T W =l ] =TI S 275a.
d) #feFE (iv) SeeT THRET TRV T TRV S-TIa] ST 3.
Tt 3 ;

(@ () (o (d)
M @) @) @ @
() (v) @) @ )
() @ G (v) (i)
(4) @@ @@ @) (i)
Match the pairs regarding concepts of ‘deficit budgeting’.

=t

Concept Meaning
(a) Revenue deficit (i) The budget deficit can be financed through borrowing
from the RBL
(b) Budget deficit (ii) Refers to budgetary deficit plus market borrowings and
other liabilities of the Govt.
(c)  Fiscal deficit (i} When revenue expenditure of the Govt. is more than its

revenue receipts.

(d) Monetised deficit (iv)y When the total expenditure of the Govt. is more than its
total receipts.

Answer Options :

@ O © (@

@) () @

@ v @) 6 @

G @ @ (v) (i)

@ @ @ @) @)

100. w9 Weld @etla faum and = anfy s faum frerer

(1) 4t fome =z = ¥ vfee deare TR,

(2) THara THAR 2021 AL T Gt THEH SRueEet drd! s siverar fae s
ATl 378

(3) THHE Tt ST RSt - 3T W, R AEl STt ST qEaehEr TR,

(4) oEEETET SY TR - HITEAER] GieEe | 8% T

Consider the following statements about Lokpal and Choose the incorrect option.

(1)  Shri. Pinaki Chandra Ghoshe is the first chairman of Lokpal.

(2) Recently in January 2021 a Logo and Motto/Slogan was selected through a open
competition drive.

(3) Logo Comprises a Ashok Chakra, three human figures, and a shape of book.

(4) Meaning of the Motto/Slogan is - ‘Do not be greedy of anyone’s wealth’.
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101. TEHE TR Te TR HTHR A T Ser & T e et
TRl .

1 1 1 1
M 1 @ 3 @ 3 @ 3
The Quorum for all types of general meeting of Brihanmumbai Municipal Corporation (BMC)
is of the total number of members.
1 1 1 1
M 15 @ 3 G 5 @ 3

102. SoEaUg Yed Sf=n frerReimed Gefies! A S qemEe g ?
(a) T ToATEN SEATS S,
(b) Toeafumit 71 foee vftad=n steas s/
(c) damET i snfor faeet aftas=n wewi=t fag 9 SHdwgT =l
(d) oo ufteg & S |e SrEmEt.
At 3w
1) wH () (2) = (b) () @M@ @ @
The recommendations of Balwant Rai Mehta Committee includes .
(a) Constitutional status for Panchayat Raj.
(b) The District Collector should be the Chairman of the Zilla Parishad.
() Members of Panchayat Samiti and Zilla Parishad should be elected directly.

(d) Zilla Parishad to be the executive body.
Answer Options :

(1)  Only (a) (2)  Only (b) (3) (a) and (d) (4) (b)and ()

103. e sfe=n =i Ereeis! HoR faad s s ?

(1) T A 39 T& FEHR SAHHR S Tadte e fee! TRus Sesg THiar e
IO A A U s @ 9.9 vefag af=a srar.

(2) T9.u. sewE wEd T fFage eeaem aREwEE UE autn S8

(3) TRagd faafsia e itag Sirada =g afeet et @ S6ia Femas T aaiian S T8
1 A A FAEHEe! S S TR SR A

(4) TlTIH! THE AR

Which one of the following statements about Zilla Parishad is correct ?

(1) Where more than one Deputy Chief Executive Officer have been appointed such one

of them as may be nominated by the President shall be ex-officio secretary of Z.P. -
(2) The term of office of councillors of Z.P. shall be five years to commence from the date
of election.
(3) Where the remainder of the period for which the dissolved Z.P. would have continued

is less than one year, it shall not be necessary to hold any election.
(4) None of the above
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104. HEIfaEH™ Tl T59 S99 2790 HI0eal TR/ Aitd e et 2t ?
(1) g« HerTg IRwg (2) T TILE ST
(3) TR IEM (4) <=, aff

Which commission/committee recommended for the establishment of a new state of
Mahavidhrbha ?
(1) Sanyukta Maharashtra Parishad (2) State Reorganization Commission

(3) Dar Commission (4) J.V.P. Committee

105. ‘AfeeTeraT= < T heglél WarerTerar=A1 Soiiel 9 e ifest’ 318 Hd Srorn At saw
FeA I ?
1) W Tete afadt 2) it w3 afad
(@) TE. TiRamwen wibdt (4) TIAUR THE AE
Which committee has expressed the opinion that ‘the Status of secretariat should be superior
to the Directorate’ ?
(1)  Sir Roland Committee (2) D.G. Karve Committee
(3) A.D. Gorwala Committee (4) None of the above

106. = o= geA afears yfus suftn Hatared @it v fF6m/T g 7=/ ?
(a) T HiHesmEr afva =uE FE &
(b) A ool Y& o U FR &,
(c) 0 T W= Y& HH-9% UM hH Hl.
(d) @ ‘afe aRE’ (Residual legatee) WU hH .

"Tn'Thﬂ‘ AL :
(1) (a) o () (2) ()
(3) () (4) aetEl THES AE

Which one of the following statements regarding role and functions of the chief secretary of
the state is/are not correct ?

(a) He acts as a secretary to the State cabinet

(b) He acts as the chief advisor to the Governor

(c) He acts as the chief-coordinator of State Administration
(d) He acts as the ‘residual legatee’

Answer Options :

(1) (a) and (9 @ ®

3) (d) (4) None of the above

THeeHT HTHTETS WA/ SPACE FOR ROUGH WORK
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107. FERTRAGHEAL THi-e e G5 Sreil e Sedn fadt o ?

Q) = @ W= @) Wm @) ==
What is the maximum number of Nominated members in the Municipal Corporation ?
(1) Three (2) Five (3) Seven (4) - Nine

108, TE@l FEF® (CGA) 3.

(a) HE TR T IS g Hear.

(b) TGRS T STeN AT W@l W= T4TYA S0 Sqeremm F0are! Ser=er.

() TR frEEm e sela sifsewE! FaERR.

LT 3T

(1) faum (a) 3T (b) TR, () THA 3.

(2) Taum (b) 31f () TR, (a) THI MR-

(3) faum (a) 377 (c) TSR, (b) THIS 3.

(4) W faur ateK oTRd.

Controller General of Accounts (CGA} is :

(a) The principal advisor on Accounting matters to the Union Government.

(b} Responsible for establishing and managing a technically Sound Management
Accounting system.

(¢} Responsible for exchequer control and internal audits.
Answer Options :

(I} Statements (a} and (b) are correct, (c) is false.

(2) Statements (b) and (c) are correct, (a) is false.

(3} Statements (a) and (c) are correct, (b) is false.

{4) All statements are correct.

109. 9y faum/a feer
(a) T wim fasm sifaetor (DRDA) © 73 =01 31f 74 =41 weAIgei! gHie This g1 e
(b) O W= S GUimed T Afeaien S Fienasdt TEmE.
(c) .. SFRER W= Ad == O |E FHod a6,
yaiEt I
(1) (), b)) (2) FH () (3) T (b) (4) (b) ST ()
Choose the correct statement/s :
(@) District Rural Development Agency (DRDA) is the only link between the 73" and 74th
Constitutional Amendments.
(b)  There should not be more than one month gap between two meetings of the Panchayat

Samitis.

{(c) Nyay Panchayat should be completely abolished according to L.N. Bongirwar
Committee.

Answer Options :

(1) () G)and () () Only (0) (3) Only (b) (4) ()and (9

FoAT HIWTETS ST /SPACE FOR ROUGH WORK PT.O
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110. T=ar=A1 Heleaear=a1 et devla aeie faum fa=mm =0

(a) I=d AT <A A g B! S R evas SEe @ sl e
Y EVIF 3T,

(b) T TEER =M & T8 HM hel 315 Wi, faar
(c) S=d AR W T a6 Afhall shell 3T9e wigs. fehar
(d) TeITE= WA A e/ ST hERHE T ST ufEs,

FOATHRT BV frem ST e ?
1) (a), (b), (c) K (2)  (®) (@, (d)
(3) (), () (o), (d) (4) (a), (b), (d) B

Consider the following statements about the appointment of Advocate General of the State :
(a) He must be a person who is qualified to be appointed a judge of a high court.

(b) He must have held a judicial office for ten years. OR

(c) He should have been an advocate of a high court for ten years. OR

(d) He should be a distinguished jurist in the opinion of the Governor.

Which of the statements given above are correct ?

(1) (@), (b), (c) only (2)  (b) (o), (d) only

3 (@) b)) (D (4) () (b), (d) only

111. 3TTT 205 AL HIVE S ags e 2

(1) T e (2) AR STgEH

(3) SfUFE ST (4) USRS AIEH

Article 205 does not mention about :

(1) Supplimentary Grant (2) Additional Grant

(3) Excess Grant (4) Exceptional Grant

HoAT THHTEIST AET/SPACE FOR ROUGH WORK
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112. e faum faarm =0 ; (TRrrEiEs-4) .

(a) YRAA TR JUMGET THAT TiST SR S HeRTEaiers 8.

(b) T WiHSTH HIETE HETE ST

(c) T T | he WU Sy Ul ferdta qoned = .

(d) & Hew gfafe s

(e) =T e HHT ITREHT Tl

(f) TR SRETARETOTET qore e Grate SRt URET S TR S,

Tt SR faum/ S gehe oTR/a ?
(1) %H (a) (2) T (f)
(3) (a) 37 () 4) (@), (e) )

Consider the following statements : (Comptroller and Auditor General - CAG)

(a) CAG is the only bulwark of democratic system of government of India.

(b) CAG is the guardian of public purse.

(c) CAG controls the entire financial system of the country at both Central and State level.
(d) CAG is an agent of Parliament.

(e) CAG is responsible only to the Parliament.

(f) CAG has more freedom with regard to audit of expenditure than with regard to audit
of receipt.

Which of the above is/are incorrect ?
(1) Only (a) (2) Only (f)

(3 (a) and () 4)  (a) (e) (B

HoAT HIHEMS AEM/SPACE FOR ROUGH WORK
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113.

54 A
‘qare it STad Sl S U gente o ?

(1) SR KR HRUTHS FHIGE! ST ST Sreeie) AfHhRes ush 9 fawm e e
foepra sifesprarerg fagan oA fawa wfidi=an yEr=t vema |fbden guamd woE fae
Fell W,

(2) dErEd Wi GEOd STeET SURVIYA Fuiq TR @19 s et e fger e
.

(3) YOF durEa 9fdHel de fRar Terdie IHYeEdEn U e Uh-GaHie At S
e HAfus SRa doe HEidre Seear e el | wXaErt |t Smd aga.

(4) TOAUH THE TR

Which one of the following statements about ‘Panchayat Samiti’ is false ?

(1) If for any reason the offices of the Chairman and Deputy chairman become vacant
simultaneously, the chairman of subject committee chosen by lot drawn by the Block

Development Officer as a chairman of Panchayat Samiti.

(2) The Chairman or Deputy Chairman of a Panchayat Samiti may remain absent for
thirty days in a year without permission.

(3) Every PanchayatSamiti shall appoint a committee consisting of either fifteen Sarpanchas

or of one-fifth of the total number of Grampanchayats in the block, whichever is more
to be known as the ‘Committee of Sarpanchas’.

{4) None of the above

114,

TR ToTs2] iV SHEHER Toare STfer w5t aftvg ai=amdie St a8 en meam
T[T AR 3ed ?

1) 167 ) 168 (3) 169 @ 170

According to which article of Indian Constitution, the Chief Minister of state is the principal
channel of communication between the Governor and the Council of Ministers ?

1) 167 (2) 168 (3) 169 @ 170

HEAT THTHTHIS S/ SPACE FOR ROUGH WORK
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115. @ faum faarm =0 :

(2)

BEUT FEG - 2006 1 ST DA FEE-1924 T FI0FT .

(b) BETEN g T TS

(c) DETT & Wiaw Tt - 1 7ol e fraifad wew, 91 wfas 98w, i Wi awd
Tew, foeer <eifumraan (DM) & wiafedt snftn ger st Sfasit ar=r gaey a6,

(d) T (2020) HRAT 68 STV & TicTeh! STEH FFR SV & IRARITS Harq At S0 S8

TR Ford T faree omRa ?

(1) (a) 3 () 2 (@) (o) = ()

(3) (a), (b) =0for(q) (4) o wd

Consider the following statements :

()

The Cantonment Act of 2006 has repealed the Cantonments Act of 1924.

116.

(b) The Cantonments are divided into two categories.

(c) A Cantonment Board Category-I consists of eight elected members, three ex-officio
members, three nominated military members and one representative of the District
Magistrate and Chief Executive Officer.

{d) At present (2020), there are 68 Cantonment boards in India and Kanpur Cantonment
Board is the largest Cantonment in India.

Which of the statements given above is/are correct ?

(1) (a) and (¢) (2) (@) () and (d)

(3) (a), (b) and (d) (4) All above

I oA ST STIYaHed Fefierdan! o fawaian guae g ?

() Hfv o (b) o Wi weim

(c) T SRt ) foor faaeo

(e) o fegor & swawE faremm

i I

(1) ¥R (a), (b) ST (c) @) = (b), (c) =AM (d)

(3) T (a), (b), (d), (e) @) (@), ®) (), (@) S ()

Which of the following subjects are included in 11'" Schedule of Indian Constitution ?

(a) Agricultural Extension {(b) Food Processing Industries

(c) Rural Waterways (d) Distribution of Electricity

()

Technical Training and Vocational education

Answer Options

(1)
(3)

Only (a), (b) and () (2)  Only (b), (c) and {d)
Only (a), (b), (d), (e) 4) (@) (). () (d) and (e)
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117. 73 =t wegewt sifufram-1992, SN Ry 4oEd TG SH9E 20 ST, < EielierE o
STt e amea ?

(a) Toewr Fem wften= e,

(b) TERAA ATHCE40 T AFEIh 3HE e,

() Widfeis erreméi= IR TEUr AmImEiaesd .
(d) wd wahe rged yoae fas,

FeTd! FUST IV ?
(1) (), ®) (© (2)  (b) 3l (o)
(3) (o) W (d) 4 (a), (b) 3for ()

The 73 Constitutional Amendment Act 1992 which aims at promoting the Panchayat Raj,
provides for which of the following ?

(a) Constitution of District Planning Committees

(b) Gives a practical shape to Article-40 of the Constitution.

(c) Transfers the representative democracy into participatory democracy.
(d) Direct elections of chairpersons at all levels.

Which are the correct codes ?

1) (@, ®)© () (b) and ()

(3) () and (@) (4) (), (b) and (@)

118. #eRE foeel 9ie 9 Y9rad Ofhdr sifufem, 1961 TR foeer aiwed sread 9 Suress i+t fag
HM YW GO G99 37698 FHI0T 3THAd ?

(1) g 2) T FEFR AfgwErd
(3) fawrita smger @) et sweman @ g

Who presides the meeting to elect the Zilla Parishad President and Vice President in first
general meeting according to Maharashtra Zilla Parishad and Panchayat Samiti Act 1961 ?

(1) Commissioner (2) Chief Executive Officer

(3) Divisional Commissioner (4) Collector or his nominee

AT HIHEIS I/ SPACE FOR ROUGH WORK
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119. ITHH ATAFHER Gele Feifeawraiar 9y % fHee
(a) TaTE (Hafed o= 9eL)
(b) T (TS Wit TeAT)
() TS Wae (Heifa SHeniad yewm)
(d) FEIET YIS TEIS (e HRIfAd W)

it 3

1) (@) ) () @) 2 (®) @) ) (@)

3 ®) (9 @ @ 4 ®) (9, (d), @)

Consider the following functionaries and arrange the correct sequence as per order of
precedence.

(a) Governor of states (Outside their respective state)

(b) Chief Minister of states (Within their respective state)

{c) Lieutenant Governors (Within their respective Union Territories)

{d) Chief Ministers of Union Territories (Within their respective Territories)
Answer Options : :

1) (@, () ©, (d) 2 ®), @ () @)

3)  (®) (© (@) @ @ ®)(© (9 @

120. faurita Tt witen &n
(a) TR 24 I S IS TAYY A FE FLW.
() <rwa=n frem e fRrereiTaR s g
(c) TEwEEA 30 I T4l fae dmad=n 9 Taa=0 TSN Sl oI,
i 3y ;
(1) %% (a) ¥ @) (a) ST (b) WA
@) (a), (b) T () WA (4) a4 s
Departmental Standing Committees are
(a) 24 in number, out of these 8 work under Ra]ya Sabha.
(b) Set-up on the recommendation of the rule committee of Lok Sabha.

(c) Consists of 30 members elected from Lok Sabha and Rajya Sabha members.
Answer Options :

(1) Only (a) is true (2) (a) and (b) are true
(3) (a), (b) and (c) are true (4) All are false
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121. TatEReT Heegor sAfufram 1986 aie ' g favaw/ favamarn fagia’ Geiiets! S e
ST TR ?
(1) vafaTer=n Sed feo.
(2) HHYATSAT A9 YA

(3) efaTe afiom.
(4) 7@, 9OR oMfOT SRt B HWETER SHAwIe! HewEl $d, SaiHt @er Aleeh! THE,

Doctrine of ‘Public Trust’ included in the Environment Protection Act, 1986 rest on which of
the following Principle ?

(1) Education in Environment matters.

(2) Pattern of Consumption of Resources.
(3) ‘Green House’ Effect.
(

4)  Resources like air, water and forests have great importance to the people which should
not be permitted to use for Private ownership.

122. WO FEGEE T TEe’ fawgamgmT yenfe SrEear I S5
(a) e SSten (D) FrEfE et
(b) SR TFHI TEOT HLA

(©) = f

(d) =TIt B TR

i I

(1) (@) @ 9 3 @09 @ @

ﬁfﬁ?ﬁmg to ‘Red Light’ theory of Administrative Law, the primary object of Administrative

(a) To control governmental power

(b) To protect private rights

(¢}  Judicial control

(d) None of the above

Answer Options :

(1) () and (b) (2) (b) and (c) 3 (@) (band (@ #) @

el HTETS! WA/ SPACE FOR ROUGH WORK
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123. =R ey afufEg 1988 =0 F9 17 TUO, Hag 9 Ferehdl o1 AR A= H0a™

Wit ol Iie SSfan w1 g Srere! .
(1) TeErEF elie g (2) dreid 3IuAfysEn
(3) dreiy Friams (4) e FHEe

As per Sec. 17 of Prevention of Corruption Act 1988 persons authorised to investigate the
cases under this Act in the metropolitan areas of Bombay, Calcutta should not be below the
rank of

(1)  Assistant Commissioner of Police (2) Deputy Superintendent of Police
(3) Inspector of Police (4) Police Constable

124, Wifedt dagH fafd 2000 faia * wam’’ RS 99 fede R B9

(1) s SO iR 2) TET F%

(3) A AN (4) frams mivw

Under Information Technology Act 2000, “Licence” means licence granted to :
(1) Certifying Authority (2) Cyber Cafe

(3) Net User (4) = Regulating Authority

125. W HiGUMTi HI0 Fed ' TH A 9 Hhd SRR 7Ed’ e TWE T 2

(a) hoTH 37 (b) HEH 35 (c) heH 41 (d) HHE 42

Tt I

(1) B (a) S0 () ST (2) F (<) AW (d) FR

() ¥ (a) W (4) olcdent e sRER AR

Which Article of the Constitution of India Provides for “equal justice and free legal aid” ?
(a) Article37 . (b) Article 35 (c) Article 41 (d) Article 42
Answer Options :

(1) Only (a) and (b) correct (2) Only (c) and (d) correct

(3) Only (a) correct (4) None of the above correct
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126, eI fauma s/acen &

(a) ‘TR R’ TRV T SRR 17 THR STOIYIdl TS TEren SeRiten fisreiel o
odd,

(b) ATTH TR Ty AfufrEm, 1955 sfaria ‘gEm’ @1 =Ea el =1 SHEY g,
(c) T B TRHW HAfufram, 1955 Siala 'gied’ @1 =redd ‘St w1|’ =1 GHEY T

(d) TRl ek HIO AfYIH, 1955 AR FHeW 8 3iald, PV HFIT FTEITITAT STURER
FE RIS H{vE TR foedage fd=i wg o1,

it F9Y
(1) TS (a), (b) M (c) TR (2) B (a) I (b) TR
(3) &aD () M (d) TR (4) TR Hd qU

Consider the following statements :

(a) Civil rights means any right accruing to a person by reason of the abolition of
untouchability by Article 17 of Constitution.

(b)  Under the Protection of Civil Rights Act, 1955 the definition of ‘shop’ includes a laundry.

(c) Under the Protection of Civil Rights Act, 1955 the definition of “hotel” excludes ‘Coffee
house’. '

(d) Under the Protection of Civil Rights Act, 1955, Section 8 provides for punishment for
refusing to admit any person to hospitals on the grounds of untouchability.

Answer Options :
(1) Only (a), (b) and (c) correct (2) Only (a) and (b) correct
(3) Only (¢) and (d) correct (4) Above all are correct

127. @eid faumi=t dud geamal.
TR Sy fuftam 1988, @1 Sfufamarciial FIears STaeT=T STRIY SHI0aR ST Shivdiet
=T, fom @ faed Fean At faon grier e[ Senfas SR @
1 U= 2) IT™
(3) FH FHt g (4) iR saEea oTHd
Examine the validity of following statement.

Any person charged with an offence under Prevention of Corruption Act 1988, shall not be
called as a witness except at his own request.

(1) True (2) False
(3) Sometimes True (4) Depends on the Circumstances
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128, THTETO W& FEG, 1986 = A
(a) 1972 =01 WY WA YREed Saciedn frofais sucrastent %o,
() Taemm weEncimia fafay frames dwrien fFamamibed TH-oE T,
(c) TS qufaRo, Fean st S e s de fare awg w0l
(d) T TR HEHHN FEE a4 H,
it I
(1) H9S (a) T T8 (2) IS (a) I (b) TS A
(3) %S (a), (b) M (c) TR ART  (4) TG Td T A
The objectives of the Environmental Protection Act, 1986 are
(a) to implement the decisions made at the UN conference 1972.

{b) to co-ordinate activities of the various regulatory agencies under the existing laws.

() to provide for deterrent punishment to those who endanger human environment, safety
and health.

(d) to enact general law on environment protection.

Answer Options :

(1) Only (a) is correct (2) Only (a) and (b) are correct
(3) Only (a), (b) and (c) are correct (4) All the above are correct

129. T AHAYHR SETE 3TE8 S TR 3R, O STHAIA,
(1) == FEeEr =
(2) U SR
(3) Urefw IyAfuEs
(4) oo =ty

A Chairperson of the State Human Rights Commission shall be who has been a
) Chief Justice of a High Court

2)  Police Commissioner
) Deputy Superintendent of Police

4)  District Judge
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130. el 9 a5 Hfuf@d 2000 wHO S Rl SoiEEE o @ad ymoes Fmtn w91,
G et fnal SR FHAYR 3T TAH HIHHAT ITHASH FHed Tod, 9 el
1 w0 HRETE fen <2t fren dde

(1) == a9 fFar T 1,00,000 @ T am@) 94q <5
(2) TH 9§ fhar T 25,000 @ I9EH T9R) 7T T
(3) 6 HfeY foan T 25,000 X Y9419 &) v €5
(4) 3 Afe e T 10,000 @ T8 &) Wd €8

As per Information and Technology Act 2000, whoever knowingly creates, publishes or
otherwise makes available electronic signature certificate for any fraudulent or unlawful
purpose shall be punished with imprisonment or fine which may extend to

(1) Two years or with fine which may extend to ¥ 1,00,000 % One lakh)
(2)  One year or with fine which may extend to ¥ 25,000 (X Twenty five thousand)
(3) 6 months or with fine which may extend to ¥ 25,000 X Twenty five thousand)

(4) 3 months or with fine which may extend to ¥ 10,000 ] Ten thousand)

131, '®A 6 o (FHAE TH) 91 Ghedd qHEIfAh F R A it Heler.
(1) <4z =&t (2) i T
(3) TreTeH ST sraE (4) <i® onfor w6

The concept ‘Rule of Law’ is called as ‘Social Contract’ by
(1) Upendra Baxi (2) John Rawls

(3) Gellhorn and Byse (4) Locke and Rousseau

HoAT THTTTS! W /SPACE FOR ROUGH WORK
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132, STggfed St o sragfad St (=R Sfdaye) AffeE, 1989 ferta fardr =mener T
FU AEEF R .
(a) T GTHRGR Io1 ~ARATCTATA] G R eemedl S,
(b) ¥z TG Hales A= Y& ~AaTfaerear Hedt.
(c) % TERGH Tgudi= A,
(d) T4 TIHRGR Teaareri=a HHei.

it Y
(1) FI (a) T R (2) (a) 3T (b) = T 3R
(3) HFS () I 3 @) (o) Ffor (d) =Y TR R

Under Schedule Castes and Scheduled Tribes (Prevention of Atrocities) Act, 1989, the special
court is to be established

(@) by the State Government, with the concurrence of the Chief Justice of the High Court.

(b) by the Central Government, with the concurrence of the Chief Justice of the Supreme
Court.

(¢) by the Central Government with the concurrence of the President.
(d) by the State Government with the concurrence of the Governor.
Answer Options :

(1) Only (a) is correct (2) Both (a) and (b) are correct
(3) Only (c) is correct (4) Both (c) and (d) are correct

133. Wiereh 3T A ATHGRS @IS o FHedm AfUt@m, 2007 A5 GURON Huamhid Grradent
HIUd foeae e FI0EE e 2
(1) e 3nft A3 AREHR @I 7 FHearor (guren) fadeaws, 2019.
(2) IAF S0 FS ARSI @I F Heawn (Guren) fadass, 2020.
(3) U o S8 ARTRER S@IE 9 e (gurn) faeas, 2018.
(4) IS A s iR @R 9 wean (guren) fades, 2017.

Which of the following Bill was introduced to amend the Maintenance and Welfare of Parents
and Senior Citizens Act, 2007 ?

(1) The Maintenance and Welfare of Parents and Senior Citizens (Amendment) Bill, 2019.
(2) The Maintenance and Welfare of Parents and Senior Citizens {Amendment) Bill, 2020.
(3) The Maintenance and Welfare of Parents and Senior Citizens (Amendment) Bill, 2018.
(4) The Maintenance and Welfare of Parents and Senior Citizens (Amendment) Bill, 2017,

FHoAl HIHTEE! AT/ SPACE FOR ROUGH WORK
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134. T-fom 9 S il =ien Frafe o weam sifafmm 2007 word ‘@’ = w39 EIE
T AR,
(1) Hm (2) =g (3) T (4) S

As per the Maintenance and Welfare of Parents and Senior Citizens Act 2007 ‘Children’
does not include

(1) Daughter (2) Grand Son (3) Grand Daughter(4) Minor
135, SRR wfeei= e SEa, 2005 sfarid ‘dar v arst faew Eacticop
el .
(1) |9 (2) W 10
(@) @ 11 (4) =leER TR TR

The ‘Service Provider’ under the Protection of Women from Domestic Violence Act, 2005 is
appointed under

(1) Section 9 (2) Section 10
(3) Section 11 {4) None of the above

136. TAEOTE HIG AN faehTg FTvaEEeY shdod WIETE ARTERER |iauETsa

WAGESEN A1 =S @A 3Tl
(1) 42+, 1976 (2) 44d1, 1978 (3) 464, 1982 (4) 51sl, 1984
Duty to protect and improve the natural environment was imposed upon the citizens of
Indiaby _ ~ amendment Act, in the year
(1) 42nd, 1976 (2) 44th, 1978 (3) 46th, 1982 (4) 51st, 1984
137. 94 i Hegu sfufm 81 sre 1 IN{d EN] AT ST,
(1) 1973 (2) 1983 (3) 1993 (4) 2003

Protection of Human Rights Act was enacted in the Year

(1) 1973 (2) 1983 (3) 1993 (4) 2003

HoAT HATEE! FRT/SPACE FOR ROUGH WORK
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138. WENE M Teqw dfedr 1966 33 ' feR ek’ 1 AfEdra THE Al

(1) T 7 see/ e i STesE
(2) TERIA SEeeedn St Jifgdl

(3) AT THO AU

(4) TRTER AigEi

According to Maharashtra Land Revenue Code 1966 ‘Nistar Patrak’ includes the information
of .

(1)

2) Information of occupied land in village.
3) Total census of village.

@)

Management of all unoccupied land in a village.

Mutation Entry.

139,

TR A TR Hed, 1966 Aaia gt sifiera = :
(a) FATTH TR A= THR 9 A T
(b) THM T qeIiHA AlCadl

(c) —HedwuT=AT iat

(d) SafEd Higad

Fherdel @ T e

(1) a3 (a) AW (b) (2) FIB (a), (c) M (d)
(3) %D (a) 30 (d) 4) =fa ud TR IR

Under Maharashtra Land Revenue Code, 1966. Land record means
(@) Copy of Maps and plans of a final town planning scheme

(b) Land and assessment register

(¢) Survey record

(d) Mutation register

Choose the correct option :

(1) Only (a) and (b) (2) Only (a), (c) and (d)
(3) Only (a) and (d) (4) All are correct
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140. WMER sy fuf=m, 1988 wHie wom 5 TSeis! qafyg o :
(a) wHITH
(b) THETF
(c) Wk aTifor fordmy —grafyn= sifusR
(dy fodm =rfas AnvaR sifier

i L
(1) 9 (a) 30T (b) TR (2) D (c) 3T (d) T
(3) D (d) T (4) HIB (c) TR

Section 5 of the Prevention of Corruption Act, 1988 relates to

(a) Public duty

(b) Public servant

{(c) Procedure and powers of Special Judge

(d) Power to appoint Special Judges

Answer Options :

(1) Only (a) and (b) correct (2) Only (c) and (d) correct
(3) Only (d) correct (4) Only (c) correct

141, G fGUAN SEe®T &4 :
et stfasr stfufem 2005 TaR.

faam 1. @ fafire TRt Ferm et e stsiE 5a e mifed sifiwr
EJRERINUG eI e

faam 2 a1en fordia =1 SReTEa TR 5o WS e ARl F amed $1E1 SafEs el
R 1 SHE FIU AEGF <@ AR

it 39T

(1) 2 faum 9% aea.

) 3 faurt TR IR

(3) Foremt 1 seR o1R W faam 2 & @M s W =

(4) Taum 1 9% a® Ty fer 2 s o

Consider following statements.

Under Right to Information Act 2005,

Statement 1:  The citizen can ask for a copy of the application for appointment made by
a certain Government Servant.

Statement 2 :  Such request can’t be denied on the ground that it contains some personal
matters not required to be disclosed.

Answer Options :

(1) Both the statements are incorrect.

(2) Both the statements are correct.

(3) Statement 1 is correct but statement 2 is not the answer to it.

(4) Statement 1 is incorrect but the statement 2 is correct.

HSAT HIATHE WM/ SPACE FOR ROUGH WORK



A 67 Jl4

142, RN T TGS Giedl, 1966 3iia wem 262 THR I TRqewel qedis e w0 |
FRRTETY SR T TR

(a) Torifoeprd (b) TEFERR

(c) feamf =mfs () Tt FiE el
i 3

(1) a3 (a) IR (2) aD (b) TN

(3) FaB (c) TN (4) ¥ (d) T

As per Section 262 of the MLR code, 1966 has the power to fix and levy assessment
for land revenue.

(@) The Collector (b) The Tahsildar

(¢) Civil Judge (d} None of the above
Answer Options :

(1) Only (a) is correct (2) Only (b) is correct
(3) Only (c) is correct (4) Only (d) is correct

143, (a) Sear Sfafrafia FEeER sl st Svam s st SHTedr= Hafeaa
ST % el W, JE8 T @ STaYE e S

(b) el TeTeh AT Halal Ty IR hedt S deal 4R TehRIcHe Jeargeadl =i,

() TrermTen ST weEEH i = a9 S SHavas Tl

(d) Tadiveen fdem sfusrEms FEFER Hear aaced] HIHd FAHF HEal TR,

TRt IR Taum/ faum SET TR/ 3R ?

(1) &ae (a) I (b) (2) Wa®@(b) MW ()

(3) e (a), (b) MU (d) (4) oot e

(a) When a sub-ordinate legislation goes beyond the scope of authority conferred on the
delegate to enact, it is known as Substantive Ultra Vires.

(b) Where the limits are clearly defined in the Parent Act, it is called Positive delegation.

(c) Incase of adjudication, the administration is not required to follow principles of natural
justice.

(d) The law made by the executive under the powers delegated to it by the legislature, is
called delegated legislation. '

Which is/are the correct statement/s from above ?

(1)  Only (a) and (b) (2} Only (b) and (c)

(3) Only (a), (b) and (d) (4) Al the above
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144. faut gan wiikeor erfufam 1987 = +em YA qigen 9 wiete & fadt dar vy
I 3R,
1) 11-A 2) 12-C
(3) 14 (4) SIS HIURE TR

Under Legal Services Authorities Act 1987 Women and Children are entitled to Legal Services
under Section __

1) 11-A ) 12-C

(3) 14 (4) None of the above

145, S HEEN SHeq Geftaish! Aiod faym ae g ?
(1) e =nfaw geR SR s e TEoE ueE &% T4
(2) ot —ifaw SR i et ofieE =T TEe e w0,
(3) o1d =g TR Yufifs == qEE aer wUEE.

@) Tl FowE faum T =

As per Administrative Law which of the following statement is correct ?

(1) Quasi Judicial body shall never follow principles of Natural Justice

(2) Quasi Judicial body may sometimes follow principles of Natural Justice
(3) Quasi Judicial body must follow principles of Natural Justice

(4) None of the above are correct
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146, TS BvR faur,/ faum @ e/ 3R ?

@) . was. fird w S Qe SR HrEETE 7Y @ b

(b) EEd Sher I A STEanEee HiEal TR et S SR HEEr HYE 6
Hel.

(¢) g <er stEme afaftaa sgeien Yas Heq el o I

(d) SreneiaR T Saeie YREr SR HeeTd HErd <a AFERS 39,

aiEt I

(1) %5 (b) A (d) (2) F9@ (a) 3 (c)

() FaB (o) () w4 faur 9% oa

Which of the following Statement/s is/are incorrect ?

(a) Mr. S.B. Giri prepared the draft of Central Vigilence Commission Act.

(b) The Law Commission headed by Justice Jeevan Reddy prepared the draft of Central
Vigilence Commission Act.

(c) The term of Service of additional Commissioner of Central Vigilence Commission is Six
Years.

(d) The CBI shall report to the CVC about cases taken up by it for investigation.

Answer Options :

(1) Only (b) and (d) (2)  Only (a) and (c)
(3) Only (c) (4) All statements are incorrect
147. Ereftel =t Jedl T

YIS Hege AUErg IuEa Aears e S 9o 159 9R AfYEd TS
.

1) ¥ (2) oH™

(3) & WHIOIG 9 (4) v T A9 A

Verify the validity of the statement.

The size and description of the seal used by each revenue officer is prescribed by the State
Government in official Gazette.

(1) True (2) False
(3) Partially True (4) Cannot be verified
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148, IFTfoA Sat Ao e SHsT (STEER gfaey) 9T 1995 Aee werm 16 T 9 WEAH

I=d VRTS8 9 <@ afgdl o suEEEt o, St e g Y e
T,
(1) 10 (2) 15 (3) 20 @) 25

Under Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Rules 1995 Sec. 16
the State Government shall constitute high power vigilance and monitoring committee of
not more than members.

M) 10 2 15 3) 20 @) 25

149, wifedt T9FF (GERIT) ST, 2008 F HFSR TRTRIG6E AT SUIRAT FHIIGaTel Seehe! foefl. =hiom
TRETRA 3T goedl SAaa et ?

(1) 27 = 2009 (2) 27 SRS 2008

(3) 17 HAlIe 2009 (4) 17 e 2008

The Information Technology (Amendment) Act, 2008 strengthened the Law to Combat Cyber
Crime. On which date such amendment Act came into force ?

(1) 27 October 2009 {2) 27 October 2008

(3) 17 October 2009 {4y 17 October 2008
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150. YEIoTdsh! R faum,/ fEum stE )/ R ?

(@) T 1748 ALY Wiy weied ‘7 forle offe § A’ @1 Jawa dfecdierd 9 aH
‘OIS AT AT gt anfon ST T e

(b) ‘EEfaHSH’ A1 AT oA WA e am - ferdie A6 € S 91 TR e

(©) 11758 Teld TG T wimwary A fae | wefaye | o qearel T e

(d) T 1746 T ‘GRANISA' A1 Hehewrrdl T fe AR w@re 'l i sifdd’ @ TR
S,

Tt I

(1) K (a) (2) W (b) MU () (3) HH (d) (4) W (a) A (q)

Which of the following statement/s is/are correct ?

(a) Montesquieu for the first gave systematic and scientific formulation of the ‘doctrine of
separation of powers’ in his book ‘The Spirit of the Laws’ published in the year, 1748.

(b) John Bodin formulated the ‘doctrine of separation of powers’ in his book ‘The Spirit of
the Laws’.

(c) Davis and Montesquieu formulated the ‘doctrine of separation of powers’ in the year
1758.

(d) Allen, in his book, ‘Law and Orders’ formulated the concept of ‘Separation of Powers’
in the year 1746.

Answer Options :
(1) Only (a) (2)  Only (b) and (c) (3) Only (d) (4)  Only (a) and (d)

-00o0-
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8) TEyfaRne fafea Fown fafre srie &= =1 (T 96) FE.  wwgiadeataiiaa IWyihal & §a
FIEET F FE HEAE A FO HOAAT RH FS A, W AMD TES § AHER SRR WA
S Foen ' aRsred g TRyeRRi wiaay soaemEes sifuftam-g2 " Ao dgeigan FRAE HoEm
U3@ 9 A F IS TF qurw1 wREErs A/ T 98 TF $9R Ao sere e U 2.

(9) WX YIS AMErT fafia FOH Yo WITAFR SRR & YR W Tia Tl SEH
IO QAT TR, UT GUAT ShETETe AUITgEl SUSa el SeaiNher Ui-1 TUAsTRs o
foaat ww &r savasE e

ki RUREA

V. . 201, TWIEl 9@ TR FOGEE! HO qod: I FA 7
(1) T TS e (2) dvaas faamrm
(3) T THAIET T (4) TR T

YA q0g I [3) T IO 997 S oTR. e Wy I (3)"! e A
T 3T %, 201 TS IR-wAE Q)" ¥ THe Toivt sEifnd FEA i s
3.

#7520, D @ @ @
A TG WA TGRSR Teleh FEl gHd] STGhHI @ GRS Ta Jeaeed] SIehade
W Y HIEEE Gafid Tde quiol S wed SEaEl.  geRiiar e shiedl VISR
AU AU, S a1 g U 9 T4
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foe= ;. wm= SteE - 11 TR fo e @ ou fedar, R0%?
HERTSE TIshadT STTARTHIGS “Ted e (F&T) URIET -R030” 3T Tl WRIeT Te-utchel T SRR SHISR AT
mﬂwfﬂmm:ﬁ%m ?o?%ﬁmmmﬁwﬁmﬁmﬁm@wmwﬁ#w

%WW@WWWWWWWWNWWWWW
IR WhRedT SR AR, AEeHid G 03 STHERT, 033 Tdd TS Weeeiedl sXehdied S@el Hael Sied.

Saatteat - KEY
. BN . I
SR WIA | §9I4B | §IC | D WIPHE THa A |WaB | ®aC | @D
1 2 4 2 2 26 4 2 3 4
2 2 4 2 2 27 4 1 3 2
3 3 2 3 3 28 2 1 3 4
4 4 3 2 2 29 2 2 1 1
5 3 4 4 1 30 3 2 4 3
6 3 1 3 3 31 3 2 3 4
7 3 3 2 4 32 4 4 2 1
8 1 2 1 1 33 1 3 1 4
9 4 3 4 4 34 1 4 2 2
10 4 3 1 3 35 4 3 1 4
1 4 3 2 2 36 4 4 1 1
12 3 1 & 2 37 2 4 3 2
13 1 4 4 4 38 1 4 2 2
14 3 4 3 4 39 2 2 4 4
15 1 3 3 3 40 1 1 4 4
16 3 4 2 1 41 1 4 3 1
17 3 4 4 3 42 1 2 4 1
18 2 4 3 3 43 2 3 4 4
19 2 3 3 3 44 2 2 4 2
20 2 4 4 1 45 4 1 2 1
21 4 3 1 2 46 1 4 2 4
22 4 2 4 4 47 4 4 1 3
23 3 2 4 3 48 4 4 4 4
24 1 3 4 3 49 2 2 2 3
25 2 1 3 3 50 4 3 4 4

GS. — Il fomi : R fed@eR, Ro3Y



. LD . S
TEER THaA | waB | w=C | @aD TR g A | W= B |®aC | ®D
51 3 4 4 2 76 4 4 3 3
52 2 1 4 1 77 2 4 3 4
53 3 3 3 4 78 3 3 1 3
54 4 1 4 3 79 3 2 2 2
55 3 3 3 3 80 2 3 3 2
56 3 2 2 4 81 1 4 3 3
57 3 4 1 4 82 3 2 4 4
58 2 2 1 2 83 1 1 3 4
59 4 4 2 3 84 2 2 1 4
60 4 4 2 4 85 2 3 1 2
61 2 3 3 2 86 3 3 2 2
62 4 1 4 3 87 3 2 2 4
63 4 3 3 4 88 2 4 4 1
64 4 4 3 4 89 3 3 4 3
65 4 2 1 2 90 4 4 3 1
66 4 1 3 1 91 4 3 4 3
67 3 2 4 4 92 4 2 2 2
68 3 4 1 2 93 3 4 3 4
69 1 3 2 3 94 2 1 4 2
70 3 3 4 3 95 4 2 4 3
71 2 2 2 3 96 2 1 2 4
72 3 4 2 4 97 4 1 1 2
73 4 1 2 1 98 1 1 2 4
74 4 3 3 2 99 1 2 1 4
75 1 3 4 3 100 2 4 4 4
GS. —11 famtien : R0 fedar, 209




. ERR . EES
TR A [ @aB | §wC | €90 T TS A | @B |9 C | 99D
101 4 2 2 1 126 2 3 2 2
102 2 1 1 4 127 1 1 1 1
103 4 4 1 2 128 4 1 4 2
104 2 2 4 2 129 1 1 1 4
105 2 2 2 1 130 1 2 4 4
106 2 2 4 2 131 4 3 1 2
107 2 2 2 1 132 1 1 1 3
108 4 2 4 2 133 1 3 1 1
109 4 4 2 2 134 4 4 4 2
110 1 2 4 2 135 2 4 3 1
111 4 1 4 1 136 1 4 1 3
112 1 4 1 2 137 3 1 1 1
113 1 1 4 1 138 1 1 1 4
114 1 2 2 4 139 4 1 2 1
115 1 4 2 4 140 4 2 4 1
116 4 1 1 2 141 2 1 2 4
117 2 4 2 1 142 1 1 3 1
118 4 4 4 1 143 3 4 3 1
119 2 4 1 4 144 2 1 1 1
120 2 2 2 2 145 3 1 1 4
121 4 1 3 3 146 2 4 1 1
122 3 4 4 4 147 1 2 4 4
123 1 2 2 1 148 4 4 2 1
124 1 3 1 2 149 1 4 4 3
125 4 1 4 1 150 1 2 1 4
GS.— 11 e : R0 fedeR, 032




